MEMO

ONESTOUCHE ITEINGS ' Series




ONE-TOUCH FITTINGS

ek JISP

METRIC-BSPT(R) 2 #il&-BSPT(R)#£L
&P | ORIFICE PC

MODEL ®D | (Thread) L A B H1 | H2
PC-04-1/8 PT1/8 20.3 8 10 3 | 10 3
PC-04-1/4 PT1/4 18.4 | 10 14 3 [ 10 3
PC-04-3/8 4 PT3/8 19 11 15 17 4 | 10 3 ¢D
Back Ring(POM)  ( POM) PC-04-M5 M5x P0.8 | 20.1 4 10 2 | 10 2
PC-04-M6 M6<P1.0 | 20.6 4 10 | 2.5 | 10 3
Packing (NBR) ( NBR)\ Collar(ZINC) () Nylon Tube PC-06-1/8 PT1/8 21 8 i2 | 4 | 12 p
Polyurethane Tube ~ PC-06-1/4 | PT1/4 22.8 10 14 4 12 4 e
PC-06-3/8 5 PT3/8 20.8 11 15 17 4 | 12 3
ResinBody (PBT) ( PB PC-06-1/2 PT1/2 24.8 | 14 21 4 | 12 2 £
PC-06-M5 M5 X P0.8 21 4 12 2 | 12 2
PC-06-M6 M6 X P1.0 21 4 12 | 2.5 | 12 3 §
PC-08-1/8 PT1/8 25.4 3 14 5 | 14 5
PC-08-1/4 s PT1/4 24.4 | 10 18 14 6 | 14 6 T
PC-08-3/8 PT3/8 21.4 11 17 6 | 14 6
Sleeve(POM)  ( POM) PC-08-1/2 PT1/2 254 | 14 21 6 | 14 6
PC-10-1/8 PT1/8 29.5 8 17 5 17 5 PP
Lock Claws(SUS) (suUs) PC-10-1/4 10 PT1/4 31 10 . 17 6 17 6 ®D
0-Ring (NBR) O ( NBR) PC-10-3/8 PT3/8 28.5 11 17 8 17 8 ‘
PC-10-1/2 PT1/2 26.8 14 21 8 17 8 [ ‘ i ‘ |
PC-12-1/8 PT1/8 32 8 21 5 | 20 5 ‘
Metal Body(Brass) ( ) PC-12-1/4 12 PT1/4 34 10 29 21 6 20 6 o [ i \
PC-12-3/8 PTa/8 31 11 21 8 | 20 8 ‘ i
PC-12-1/2 PT1/2 33.5 | 14 21 8 | 20 8 ‘
PC-16-3/8 16 |_PT3/8 37.8 11 o4 24 8 | 24 8 - 1
PC-16-1/2 PT1/2 39.8 | 14 24 | 10 | 24 10 g
|
R i
INCH-NPT 3l #-NPT# S
MODEL oD | &P (Thread) L A B HA H2 | ORIFICE T HH»
: ; PC5/32-UNF UNF10/32 | 21.4 | 3.6 7/16 | 3/32 2.5
Sl Cioirpeesee L Vel PC5/32-N01 NPT1/8 19.5 | 8.5 7716 | 3/32 3.2 )
Operating pressure 0~1.0Mpa(0~10.2kgf/cm?) PCT/32-No2 | 5/32| 10.5 NpT1/4 22.0 [ 105 | ' [9/16 | 1/8 3.2 ‘
, PC5/32-N02 NPT3/8 23.0 | 11.5 11/16| 1/8 3.2
Negative pressure -750mmHg PC3/16-UNF UNF10/32 | 22.0 | 3.6 7/16 | 3/32 2.5
Pressure proof 1.5MPa PC3/16-N01 NPT1/8 23.1 | 8.5 7/16 | _1/8 3.2 ‘
PC3/16-N02 | 3/16 | 11.0 | NPT1/4 23.1 | 10.5 | 15 [ 9/16 | 1/8 3.2 |
Operating temperature 5~60°C PC3/16-N03 NPT3/8 241 [ 11.5 11/16] 1/8 3.2 ‘
) PC1/4-UNF UNF10/32 | 23.2 | 3.6 1/2 | 3/32 2.5
Tube material Nylon and Polyurethane —Poi/4-N01 | NPT1/8 538 85 172 T 3/16 20
PC1/4-N02 1/4| 12.7 | NPT1/4 23.2 | 10.5 | 45 | 9/16 | 3/16 4.0
PC1/4-N03 NPT3/8 24.2 | 11.5 11/16 | 3/16 4.0
PC1/4-N04 NPT1/2 27.3 | 14.5 7/8 | 3/16 4.0 P C - G
PC5/16-NO1 NPT1/8 28.2 | 8.5 9/16 | 3/16 4.8
ORDERING CODE ]t 5 PC5/16-N02 | 5,16 | 14 o | _NPT1/4 26.0 | 10.5 18 | 9/16 [ 1/4 6.4
PC5/16-N03 : NPT/3/8 26.5 | 11.5 11/16]| 1/4 6.4
PC5/16-N04 NPT1/2 24.5 | 14.5 7/8 | 1/4 6.4
PC3/8-NO1 NPT1/8 30.1 | 8.5 11/16| 3/16 4.8 D
PC 8 = GO1 0 PC3/8-N02 NPT1/4 31.1 | 10.5 11/16| 1/4 6.4 7~
PC3/8-N03 3/8 | 16.7 [ NPT3/8 24.8 | 11.5 22 11/16] 5/16 7.9
PC3/8-N04 NPT1/2 24.0 | 14.5 7/8 | 5/16 7.9 i
‘ ‘ ‘ ‘ PC1/2-NO1 NPT1/8 33.4 | 85 7/8 | 3/16 4.8
PC1/2-N02 NPT1/4 35.4 | 10.5 7/8 | 1/4 6.4
Model & Tube Outer Dia 4 Thread Size B4R <+ Sleeve Color i 5t _PC1/2-N03 | 1/2 | 20.6 | NPT3/8 31.9 | 11.56 | 22 7/8 | 3/8 9.5
PC1/2-N04 NPT1/2 31.4 [ 14.5 7/8 | 3/8 9.5
MEEE&?ZE 'Nﬁ‘fg )S\,'QZLE R(BSPT) NPT G(BSPP) NPT: Black NPT B .
: R.G: Blve R, G MIETRIC-BSPP (G) % il -BSPP(G)# op
CODE DIA. CODE DIA. M5X0. 8P | U:10-32UNF G 01:1/8 — ' T oD
4 54 532 @ 5/32 M6X1.0P | N 01:1/8 G 02:1/4 N: Nickel plat N MODEL &D (Thrzad) L(mm) | Amm) | B | H(mm) | H2(mm) | ORIFICE ‘
; oF P [ : J
6 26 316 @ 3/16 OL:1/8 | N02:1/4 G 03:3/8 PC04-G01 4 G 1/8 22.1 55 15 14 3 3 1
8 58 1/4 > 14 02717% N0373/8 G 037172 PC04-G02 G1/4 21.4 7.5 17 3 3 @ i ‘
031378 N0t 12 PC06-G01 G1/8 23.2 5.5 14 4 4 \
10 210 516 @ 5/16 a1/ PC06-G02 6 G1/4 235 75 15 17 4 4 . |
| PC06-G03 G 3/8 20.5 75 20 4 4 |
12 o2 38 o308 PC08-GO1 G1/8 | 255 | 55 14 4 4 R
16 @16 112 Z 112 PC08-G02 8 G1/4 24.5 75 18 17 5 5 T~
PC08-G03 G 3/8 21 7.5 20 6 6 (I <[
PC08-G04 G1/2 245 10 24 6 6 v
~ PC10-GO1 | G1/8 29.2 5.5 17 4 4 T
PC10-G02 10 G1/4 30.9 7.5 2o 17 6 6
PC10-G03 G 3/8 27.2 7.5 20 6 6
PC10-G04 G1/2 30.4 10 24 8 8
PC12-G02 G1/4 33.5 75 21 6 6
PC12-G03 12 G 3/8 28.5 7.5 22 21 8 8
PC12-G04 G1/2 31 10 24 8 8
PC16-G03 16 G 3/8 355 75 o4 24 8 8
PC16-G04 G1/2 38 10 24 10 10

(3 )MCLER



POC

oD

L

&P 005

ONE-TOUCH FITTINGS
(S IEE- SN

METRIC-BSPT (R) 2fili#-BSPT(R)ERLL

METRIC-BSPT (R) 2 #l#-BSPT(R)Z A

JIS~

MODEL »D (ThrTead) L A B H P ORIFICE
POC-04-1/8 PT1/8 20.3 8 3 3
POC-04-1/4 PT1/4 18.4 10 3 3
POC-04-3/8 4 PT3/8 19 11 15 4 10 3
POC-04-M5 M5X P0.8 | 20.1 4 2 2
POC-04-M6 M6XP1.0 20.6 4 2.5 3
POC-06-1/8 PT1/8 21 8 4 4
POC-06-1/4 PT1/4 22.8 10 4 4
POC-06-3/8 5 PT3/8 20.8 11 s 4 12 4
POC-06-1/2 PT1/2 248 14 4 4
POC-06-M5 M5 X P0.8 21 4 2 2
POC-06-M6 M6XP1.0 21 4 2.5 3
POC-08-1/8 PT1/8 25.4 8 5 5
POC-08-1/4 8 PT1/4 24 .4 10 18 6 14 6
POC-08-3/8 PT3/8 21.4 11 6 6
POC-08-1/2 PT1/2 25.4 14 6 6
POC-10-1/8 PT1/8 29.5 8 5 5
POC-10-1/4 PT1/4 31 10 6 6
Poc-10-358 | 0 [ Prass 28.5 11 22 8 L 8
POC-10-1/2 PT1/2 26.8 14 8 8
POC-12-1/8 PT1/8 32 8 5 5
POC-12-1/4 PT1/4 34 10 6 6
PoC-12-3/8 | 2 | PTas 31 11 22 8 20 8
POC-12-1/2 PT1/2 33.5 14 8 8
POC-16-3/8 PT3/8 37.8 11 8 8
POC-16-1/2 e PT1/2 39.8 14 24 10 24 10

INCH-NPT &il4-NPTIZ &

MODEL &D oP (ThrTead) L A B H ORIFICE
POC5/32-UNF 11.0 UNF10/32 20.8 | 3.5 3/32 2.4
POC5/32-N01 | 5/32 | 11.0 NPT1/8 21.0 | 8.5 15 1/8 3.2
POC5/32-N02 14.0 NPT1/4 22.0 |[10.5 1/8 3.2
POC3/16-UNF 11.0 UNF10/32 224 | 3.5 3/32 2.4
POC3/16-N01 | 3/16 | 12.0 NPT1/8 22.7 | 85 15 1/8 3.2
POC3/16-N02 14.0 NPT1/4 23.7 |10.5 178 3.2
POC1/4-UNF 13.0 UNF10/32 229 | 35 3/32 2.4
POC1/4-N01 1/4 |_13.0 NPT1/8 236 | 8.5 15 3/16 438
POC1/4-N02 14.0 NPT1/4 23.8 |[10.5 3/16 48
POC5/16-N01 14.0 NPT1/8 275 | 8.5 3/16 4.8
POC5/16-N02 | 1o [ 14.0 NPT1/4 255 |10.5 18 1/4 6.4
POC5/16-N03 18.0 NPT3/8 255 [11.5 174 6.4
POC3/8-N01 18.0 NPT1/8 28.2 | 8.5 3/16 438
POC3/8-N0O 18.0 NPT1/4 28.2 [10.5 29 1/4 6.4
POC3/8-N03 3/8 [ 18.0 NPT3/8 28.2 [11.5 5/16 8.0
POC3/8-N04 22.0 NPT1/2 29.2 [14.5 5/16 8.0
POC1/2-N02 21.0 NPT1/4 35.4 |10.5 > 174 6.4
POC1/2-N03 172 [ 21.0 NPT3/8 329 [11.5 3/8 9.5
POC1/2-N04 22.0 NPT1/2 33.0 [14.5 3/8 9.5

MODEL | D (ThrTead) E L A B H | oPp | d |oRIFIC
PL-04-1/8 PT1/8 24 | 29.7 | 8 10 65| 25
PL-04-1/4 PT1/4 26.3 | 32.7 | 10 14 8.7 2.5
PL-04-3/8 | 4 PT3/8 28 34 | 11 15 17 | 11 [11.7] 2.5
PL-04-M5 M5X P0.8 24 | 265 | 4 10 25| 2.5
PL-04-M6 M6X P1.0 24 27 4 10 25| 2.5
PL-06-1/8 PT1/8 252 | 30.9 | 8 12 6.5] 2.5
PL-06-1/4 PT1/4 26.9 | 33.9 | 10 14 8.5 | 4
PL-06-3/8 | PT3/8 28.6 | 35.2 | 11 15 17 | 44 [11.2] 4
PL-06-1/2 PT1/2 30.9 | 38.7 | 14 21 14 | 4.5
PL-06-M5 M5X P0.8 252 | 38.2 | 4 12 25| 2.5
PL-06-M6 M6X P1.0 252 | 28.7 | 5 12 25| 25
PL-08-1/8 PT1/8 30.5 | 35.4 | 8 14 6.8 4
PL-08-1/4 | ¢ PT1/4 30.5 | 37.4 | 10 18 14 | 44, [ 82] 4
PL-08-3/8 PT3/8 32.2 | 38.7 | 11 17 4 [M1.9] 4
PL-08-1/2 PT1/2 34.5 | 42.2 | 14 21 13.9] 4
PL-10-1/8 PT1/8 37.4 | 42 8 17 6.5] 6.5
PL-10-1/4 PT1/4 37.4 | 44 | 10 17 8.3 ] 6.5
pL-10-3/8 | 10 PT3/4 37.4 | 45 | 11 22 17 | 84 [11.7] 6.5
PL-10-1/2 PT1/2 39.7 | 48.5 | 14 21 14.3| 7.5
PL-12-1/8 PT1/8 40.4 | 44.5 | 8 19 6.5| 6.5
PL-12-1/4 | ., PT1/4 40.4 | 46.5 | 10 - 19 | ,, 8 | 6.5
PL-12-3/8 PT3/8 40.4 | 48.5 | 11 19 1.5 7
PL-12-1/2 PT1/2 41.5 | 51 14 21 14 | 7.5
PL-16-3/8 | . PT3/8 46.2 | 57.5 | 11 s 24 | Lo 11| 11
PL-16-1/2 PT1/2 46.2 | 60.5 | 14 24 14 | 14
INCH-NPT 58 - NPT &L
MODEL ®D | P | (Thioad) L E A B H |ORIFIC
PL-5/32-UNF UNF10/32 | 26.7 3.6 7/16 | 2.5
PL-5/32-N01 5/32 11 NPT1/8 30.3 23.7 8.5 15 7/16 3.3
PL-5/32-N02 NPT1/4 33.3 10.5 9/16 | 3.3
PL-3/16-UNF UNF10/32 | 27.2 3.6 7/16 | 3.3
PL-3/16-N01 NPT1/8 30.8 8.5 7/16 | 3.3
PL-3/16-N02 | 3/16| 13 | NPT1/4 33.8 | 24.2 10.5 15 [9/16 | 33
PL-3/16-N03 NPT3/8 34.8 11.5 11/16| 3.3
PL-1/4-UNF UNF10/32 | 32.4 3.6 1/2 | 2.5
PL-1/4-N0O1 NPT1/8 34.3 8.5 1/2 | 45
“PL-1/4-N02 | 1/4 13 NPT1/4 37 26.5 10.5 15 [9/16 | 4.5
PL-1/4-N03 NPT3/8 38 11.5 11/16| 4.5
PL-5/16-N01 NPT1/8 36.7 8.5 9/16 | 6.6
PL-5/16-N02 NPT1/4 38.7 10.5 9/16 | 6.6
pLsiie-no3 | /16| 144 T \pTass 3oz 22 11.5 8 41/16] 6.6
PL-5/16-N04 NPT/1/2 42.7 14.5 7/8 | 6.6
PL-3/8-N01 NPT1/8 38.8 8.5 11/16| 5.5
PL-3/8-N02 a/8 | 184 | _NPT1/4 40.8 | 353 10.5 oo [11/16] 7.7
PL-3/8-N03 NPT3/8 21.8 11.5 11/16 | 7.7
PL-3/8-N04 NPT1/2 44.8 14.5 7/18 | 7.7
PL-1/2-N02 NPT1/4 46 10.5 3/4 | 8.8
PL-1/2-N03 1/2 21 NPT3/8 47 37.8 11.5 22 3/4 9.9
PL-1/2-N04 NPT1/2 50 14.5 7/8 | 9.9
METRIC-BSPP (G) ~fil#&-BSPP(G)IR 4
T
MODEL o0 || el L E A B H ORIFIC
PL04-GO1 G1/8 30.3 22.1 55 15 14 25
PL04-G02 4 G1/4 32 21.4 7.5 17 2.5
PL06-GO1 G1/8 e e 5.5 14 2.5
PL06-G02 6 G1/4 34.8 23.5 7.5 15 17 4
PL06-G03 G3/8 36.2 20.5 7.5 20 4
PL08-GO1 G1/8 32.5 255 55 14 4
PL08-G02 5 G 1/4 355 245 75 18 17 4
PL08-G03 G3/8 37.5 21 7.5 20 6
PL08-G04 G1/2 40 24.5 10 24 6
PL10-GO1 G1/8 38.9 29.2 5.5 17 6
PL10-G02 10 G1/4 425 | 30.9 7.5 2o 17 6.5
PL10-G03 G 3/8 441 27.2 7.5 20 6.5
PL10-G04 G1/2 46.9 | 30.4 10 24 7.5
PL12-G02 G1/4 445 | 335 7.5 19 6.5
PL12-G03 12 G 3/8 46.6 | 285 7.5 22 20 7
PL12-G04 G1/2 49.6 31 10 24 7.5
PL16-G03 ; G3/8 55.4 35.5 7.5 oa 24 11
PL16-G04 6 G1/2 60 38 10 24 14

PL

PP

H
N

RIS 4

006 @&



ONE-TOUCH FITTINGS
(S IEE- SN

PT

E
B
[
s|sL 1
U f u
| 2
AN
N
T :
T4
Y\
e
oD
E
B
Ao s |
L ! " N
|
LI
A <
iy
0

&P 007

METRIC-BSPT (R) 2 #l#-BSPT(R)HLL

METRIC-BSPT(R) /4 #l#-BSPT(R)Z4

JIS~

MODEL | #D | (Thread) L E A B H P d | oRIFic
PT-04-1/8 PT1/8 | 29.7 8 10 65 | 2.5
PT-04-1/4 PT1/4 | 32.7 10 14 87 | 2.5
PT-04-3/8 | 4 PT3/8 34 | 366 | 11 15 17 | 11 [11.7] 25
PT-04-M5 M5x P0.8_| 26.5 4 10 25| 2.5
PT-04-M6 M6XP1.0 | 27 4 10 25 | 2.5
PT-06-1/8 PT1/8 | 30.9 8 12 65 | 2.5
PT-06-1/4 PT1/4 | 33.9 10 14 8.5 | 4
PT-06-3/8 PT3/8 | 35.2 1 17 12| 4
PT-06-172 | © pri2 | 387 | /8 [1a 15 21 | '3 14 | 45
PT-06-M5 M5xP0.8 | 28.2 4 12 25 | 2.5
PT-06-M6 M6<P1.0 | 28.7 p 12 25 | 2.5
PT-08-1/8 PT1/8 35.4 8 14 6.8 4
PT-08-1/4 PT1/4 | 37.4 10 14 82 | 4
PT-08-3/8 | © PT3/8 387 | *° 11 18 17 |44 119 4
PT-08-1/2 PT1/2 | 42.2 14 21 13.9] 4
PT-10-1/8 PT1/8 42 8 17 6.5 | 6.5
PT-10-1/4 PT1/4 44 10 17 8.3 | 65
PT-10-3/8 | '° PT3/8 a5 | 254 11 22 17 | "84 7] 65
PT-10-1/2 PT1/2 | 48.5 14 21 143] 7.5
PT-12-1/8 PT1/8 | 44.5 8 19 65 | 6.5
PT-12-1/4 PT1/4 | 46.5 10 19 8 | 65
PT-12-3/8 | 12 PT3/8__| 485 | °° [ 11 22 19| %' [1i5] 65
PT-12-1/2 PT1/2 51 14 21 14 | 6.5
PT-16-3/8 PT3/8 | 57.5 11 24 RN
PT-16-12 | 16 PT12 | 605 | °° [ 14 2 24 | 2 14 | 14
INCH-NPT %l & -NPTIZ &
.

MODEL oD | P | T o L E A B H | ORIFICE
PT5/32-UNF UNF10/32 | 26.7 3.6 7/16 25
PT5/32-N01T | 5/32| 11 NPT1/8 303 | 370 | 85 15 [7/16 3
PT5/32-N02 NPT1/4 33.3 10.5 9/16 3
PT3/16-UNF UNF10/32 | 27.2 3.6 7/16 2
PT3/16-N01 NPT1/8 30.8 8.5 7/16 3
PT3/16-N02 | 3/16| 13 NPT1/4 33.8 | 38.2 [ 10.5 = 9/16 3
PT3/16-N03 UPT3/8 34.8 11.5 11/16 3
PT1/4-UNF UNF10/32 | 32.4 3.6 12 25
PT1/4-NO1 NPT1/8 34.3 8.5 172 4.5
PT1/4-N0O2 174 13 NPT1/4 37 40.8 355 1° 9/16 4.5
PT1/4-N03 NPT3/8 38 11.5 11/16 | 4.5
PT5/16-N0O1 NPT1/8 36.7 8.5 9/16 6
PT5/16-N02 NPT1/4 38.7 10.5 9/16 6
pT5/16-N03 | 218 144 [ NpPTas 30.7 | 37115 " [q1/16 6
PT5/16-N04 NPT1/2 42.7 14.5 7/8 6
PT3/8-NO1 NPT1/8 38.8 8.5 11/16 5
PT3/8-N02 | 3/ | 184 | _NPT1/4 40.8 | 477 [105]| ,, [1116 7
PT3/8-N03 NPT3/8 21.8 1.5 11/16 7
PT3/8-N04 NPT1/2 44.8 14.5 7/8 7
PT1/2-N02 NPT1/4 46 10.5 3/4 8
PT1/2-N03__| 1/2| 21 NPT3/8 47 | 565 | 11.5| 22 | 3/a 9
PT1/2-N04 NPT1/2 50 14.5 7/8 9

METRIC-BSPP (G) 2fil#&-BSPP(G)I# 4
T
MODEL D | rhibad) L E A B H ORIFIC
PT04-GO1 G1/8 30.3 55 14 25
PT04-G02 4 G1/4 32 366 55 1° 17 2.5
PT06-GO1 G1/8 32.3 55 14 2.5
PT06-G02 6 G1/4 34.8 378 7.5 | 15 17 4
PT06-G03 G3/8 36.2 7.5 20 4
PT08-GO1 G1/8 32.5 55 14 2
PT08-G02 8 G1/4 35.5 45 75 | g 17 2
PT08-G03 G3/8 37.5 7.5 20 6
PT08-G04 G1/2 40 10 24 6
PT10-GO01 G1/8 38.9 5.5 17 6
PT10-G02 G1/4 42.5 7.5 17 6.5
PT10-G03 10 G3/8 44,1 Rl el 20 6.5
PT10-G04 G1/2 46.9 10 24 75
PT12-G02 G1/2 44.5 7.5 19 6.5
PT12-G03 12 G3/8 46.6 59 75 | 22 20 7
PT12-G04 G1/2 29.6 10 24 75
PT16-G03 G3/8 55.4 7.5 24 11
PT16-G04 6 G1/2 60 % 10 2 24 12

MODEL |&D (Th,Tead) L E A B H | P d |ORIFIC
PST-04-1/8 PT1/8 38.8 | 24 8 10 6.5 | 2.5
PST-04-1/4 PT1/4 41.8 | 26.3 | 10 14 8.7 | 2.5 T
PST-04-3/8 | 4 PT3/8 43.1 28 11 15 17 1 [11.7 | 2.5
PST-04-M5 M5XP0.8 | 35.6 | 24 4 10 25 | 2.5
PST-04-M6 M6XP1.0 | 36.1 24 5 10 25 | 2.5
PST-06-1/8 PT1/8 40.1 | 25.2 | 8 12 6.5 | 2.5
PST-06-1/4 PT1/4 43 | 26.9 | 10 14 8.5 4
PST-06-3/8 | 4 PT3/8 44.3 | 28.6 | 11 15 17 13 |12 | 4
PST-06-1/2 PT1/2 47.8 | 30.9 | 14 21 14 | 4.5
PST-06-M5 M5XP0.8 | 37.3 | 25.2 | 4 12 25 | 2.5
PST-06-M6 M6XP1.0 | 37.8 | 25.2 | 5 12 25 | 2.5 E
PST-08-1/8 PT1/8 46.3 | 305 | 8 14 6.8 4 ‘
PST-08-1/4 | g PT1/4 48.3 | 30.5 | 10 18 14| 4, [82 4 -
PST-08-3/8 PT3/8 49.6 | 32.2 | 11 17 “ 119 | 4 1 o
PST-08-1/2 PT1/2 53.1 | 34.5 | 14 21 13.9 | 4 !
PST-10-1/8 PT1/8 55 | 37.4 | 8 17 6.5 | 6.5 |
PST-10-1/4| .o [ PT1/4 57 37.4 10 P 17 | 154 [ 83 6.5 = f
PST-10-3/8 PT3/4 58 | 37.4 | 11 17 “ 117 | 65 ol o o
PST-10-1/2 PT1/2 61.5 | 39.7 | 14 21 14.3 | 7.5 sl ol TN *f{wﬁf -
PST-12-1/8 PT1/8 58 | 40.4 | 8 19 6.5 | 6.5 — il .
PST12-1/4 | ., | _PT1/4 60 | 40.4 | 10 . 19 o1 728 | 6.5 = ‘
PST-12-3/8 PT3/8 62 | 40.4 | 11 19 1.5 | 6.5 ‘
PST-12-1/2 PT1/2 64.5 | 41.5 | 14 21 14 | 6.5 [ I : H
INCH-NPT # 1% NP2 4L \\ i / <
N I 174
MODEL éD | P (ThrTead) L E A B H ORIFICE T/ d
PST5/32-UNF UNF10/32 | 42.1 3.6 7/16 25
PST5/32-N01_| 5/32 | 11 NPT1/8 45.7 | 25.0 | 8.5 15 | 7/16 3 T
PST5/32-N02 NPT1/4 48.7 10.5 9/16 3 | 4 )
PST3/16-UNF UNF10/32_| 41.5 3.6 7/16 3 \
PST3/16-NO1 NPT1/8 45.1 8.5 7/16 3 R
pstaie-No2 | /16| 13 NpTY/4 481 | 2%1 05| ' [one 3 ‘
PST3/16-N03 NPT3/8 49.1 11.5 11/16 | 3
PST1/4-UNF UNF10/32 | 47.4 3.6 1/2 2.5
PST1/4-NO1 NPT1/8 49.3 8.5 1/2 4.5
psTi/anoz | /4| 13 T NPTU/4 520 | 29 105 | '° [9me6 | 45 P S T_ G
PST1/4-N03 NPT3/8 53.0 11.5 11/16 | 4.5
PST5/16-N0O1 NPT1/8 53.7 8.5 9/16 6
PST5/16-N02 NPT1/4 55.7 10.5 9/16 6
psT5/16-N03 | /16| 144 NpTass 567 | °°° [11.5 | '® [q116] 6
PST5/16-N04 NPT/1/2 59.7 14.5 7/8 6
PST3/8-N01 NPT1/8 63.3 8.5 11/16| 5
PST3/8-N02 NPT1/4 65.3 10.5 1M/16| 7
psTasNo3 | 28 | 184 \pram 663 | >4 115 %2 [nnel 7
PST3/8-N04 NPT1/2 69.3 14.5 7/8 7
PST1/2-N0O2 NPT1/4 57.3 10.5 3/4 8 £
PST1/2-N03__| 1/2 | 21 NPT3/8 583 | 40.8 | 11.5 | 22 [ 3/4 10
PST1/2-N04 NPT1/2 61.3 14.5 7/8 10 e —
|
1 o
METRIC-BSPP (G) % 1fl#-BSPP(G)# 4 |
MODEL oD (ThrTead) L E A B H ORIFICE 1 INg
ol 0 J
PST04-G01 4 G1/8 43.5 26.3 55 | 45 14 2.5 el & {777 4
PST04-G02 G 1/4 45.6 28 7.5 17 2.5 ] ‘
PST06-GO01 G 1/8 45 26.9 5.5 14 2.5 1
PST06-G02 6 G 1/4 47.3 28.6 7.5 | 15 17 4 !
PST06-G03 G 3/8 48.6 30.3 7.5 20 4 i
PST08-GO01 G 1/8 50.6 30.5 5.5 14 4 [ I | I }
PST08-G02 8 G 1/4 53.7 32.2 75 | g 17 4 :
PST08-G03 Ga3/8 55 33.9 7.5 20 6 ] <
PST08-G04 G 1/2 57.7 36.2 10 24 6 T/
PST10-GO1 G 1/8 61 37.4 5.5 17 6
PST10-G02 | ,, G 1/4 64.3 37.4 75 | 5 17 6.5 —
PST10-G03 G 3/8 66.2 39.1 7.5 20 6.5
PST10-G04 G 1/2 68.8 41.4 10 24 7.5 | A D
PST12-G02 G 1/4 65.2 40.4 7.5 19 6.5 | _/
PST12-G03 | 12 G 3/8 67.8 40.9 7.5 | 22 20 7 E——
PST12-G04 G1/2 70.8 43.2 10 24 7.5

008 @&



ONE-TOUCH FITTINGS

ek JIS~

MODEL bD E C B Y= ORIFIC MODEL b D E L M1 M2 B oP ORIFICE
PUC-04 2 326 32 15 1 3 PUT-04 4 36.8 241 7.2 13.6 15 11 3
PUC-06 5 35 32 15 13 5 PUT-06 6 37.8 25.8 7.8 15.6 15 13 5
PUG-08 A 38.6 32 18 144 3 PUT-08 8 44.6 29.6 9.1 17.3 18 14.4 6
PUG-10 10 476 42 22 184 s PUT-10 10 57 37.8 11.8 23.4 22 18.4 8
PUG-12 12 288 12 29 21 10 PUT-12 12 58.6 39.3 14 26.5 22 21 10
BUCT6 16 548 52 54 26 13 PUT-16 16 63.4 448 16.5 30.7 24 26 12.5
®D
. L
INCH 41 INCH &l oP
)
oD MODEL | @D »P L E c B | ORIFICE MODEL | D | 4P | E L c B | M1 | M2 |ORIFICE s
‘ | i ‘ ‘ PUC5/32 5/32 11 12.8 32.6 3.2 15 3 PUT5/32 5/32 11 36.8 | 24.1 3.2 15 7.2 13.6 3 P
: PUC3/16 3/16 13 15.1 35 3.2 15 5 PUT3/16 3/16 13 37.8 | 25.8 3.2 15 7.8 15.6 5 o !
: PUC1/4 1/4 13 16.3 35 3.2 15 5 PUT1/4 1/4 13 37.8 | 25.8 3.2 15 7.8 15.6 5 1 w
i w PUC5/16 5/16 14.4 19.9 38.6 3.2 18 6 PUT5/16 5/16 | 14.4 | 446 | 29.6 3.2 18 9.1 17.3 6 @ 1
; PUC3/8 3/8 18.4 21.5 47.6 4.2 22 8 PUT3/8 3/6 18.4 57 37.8 4.2 22 11.8 | 23.4 8 - - [
; PUC1/2 1/2 21 24.5 48.8 4.2 22 10 PUT1/2 1/2 21 58.6 | 39.3 4.2 22 14 26.5 10 ‘
- m S T i* m
i S\ G
o (7 S
‘ 1
1 |
| I | | |
\ i \ \
M1
P U L METRIC 4#l METRIC 2 #l PY
MODEL &D L B c dP ORIFICE MODEL oD L E B dP Cc ORIFICE
PUL-04 4 24 15 3.2 11 3 PY-04 4 35.2 22.2 15 11 3.2 3
PUL-06 6 25.5 15 3.2 13 5 PY-06 6 37 26 15 13 3.2 5
PUL-08 8 29.6 18 3.2 14.4 6 PY-08 8 39.4 29.6 18 14.4 3.2 6
PUL-10 10 36.7 22 4.2 18.4 8 PY-10 10 50.2 37.2 22 18.4 4.2 8
PUL-12 12 39.8 22 4.2 21 10 PY-12 12 52.6 42.6 22 21 4.2 10
PUL-16 16 45 24 52 26 12.5 PY-16 16 59.2 51 24 26 5.2 12.5
4D
L
B
E
B ‘ . INCH i
| NN INCH 1 i . oP
a
Tfr-—-—- — -1+ MODEL &D b P L E c B ORIFICE ®D
& GL 1 MODEL &D bP L c B ORIFICE
i PY5/32 5/32 1 35.2 22.2 3.2 3.2 3 ‘ = ‘
4 = @ \ PULS5/32 5/32 il 24 3.2 15 3 PY3/16 3/16 13 37 26 3.2 3.2 5
| PUL3/16 3/16 13 255 3.2 15 5 BY1/ 4 1 4 13 37 26 32 39 5
| PUL1/4 1/4 13 25.5 3.2 15 S PY5/16 5/16 | 14.4 | 39.4 29.6 2.2 2.2 6 @
[ | PUL3/8 3/8 18.4 36.7 4.2 22 8 PY1/2 1/2 21 52.6 42.6 4.2 4.2 10 \
‘ : PUL1/2 1/2 21 39.8 4.2 22 10 B

&P 005 010 @)



ONE-TOUCH FITTINGS

ek ik JIS

PWT METRIC-BSPT(R) 2#l#&-BSPT(R)LL METRIC-BSPT(R) 2 #li-BSPT(R)HRLL P L L
MODEL | &D (ThLad) L E A | B| H |oP| d |ORIFICE MODEL | D (ThrTead) E L A B H | oP d | ORIFICE
PWT-04-1/8 PT1/8 38.8 8 |15 ] 10 6.5 2.5 PLL-04-1/8 PT1/8 427 | 8 10 65| 25
PWT-04-1/4 PT1/4 41.8 10 | 15 | 14 8.7 2.5 PLL-04-1/4 PT1/4 44.7 | 10 14 87| 25
PWT-04-3/8| 4 PT3/8 431 221 11 [ 15| 17 | 11 [11.7| 2.5 PLL-04-3/8 | 4 PT3/8 24 [459 | 11 | 15 [ 17 | 11 [11.7| 25
PWT-04-M5 M5x<P0.8_| 35.6 4 15| 10 2.5 2.5 PLL-04-M5 M5x P0.8 39 4 10 25| 25 .
PWT-04-M6 M6<P1.0 | 36.1 5 [15] 10 2.5 2.5 PLL-04-M6 M6X P1.0 40 5 10 25| 25 - oD
PWT-06-1/8 PT1/8 40.1 8 [15 ] 12 6.5 2.5 PLL-06-1/8 PT1/8 453 | 8 12 65| 25 ‘
PWT-06-1/4 PT1/4 43 10 | 15 | 14 8.5 4 PLL-06-1/4 PT1/4 47.3 | 10 14 8.5 4
PWT-06-3/8| ¢ PT3/8 443 Lo [ 4517 | ,, [11.2] 4 PLL-06-3/8 | ¢ PT3/8 o5 | 485 11 | 17 |, [11.2 4
PWT-06-1/2 PT1/2 47.8 14 | 15 | 21 14 4.5 PLL-06-1/2 PT1/2 “ 523 | 14 S 21 14 45 E
PWT-06-M5 MSxP0.8 | 37.3 4 15| 12 2.5 2.5 PLL-06-M5 M5 X P0.8 41.6 4 12 2.5 2.5 B
E PWT-06-M6 MéxP1.0 | 37.8 S |15 ] 12 2.5 2.5 PLL-06-M6 M6xP1.0 426 | 5 12 2.5 2.5 L
PWT-08-1/8 PT1/8 46.3 8 18 14 6.8 4 PLL-08-1/8 PT1/8 49.6 8 14 6.8 4 L
P PWT-08-1/4 PT1/4 48.3 10 18 14 8.2 4 PLL-08-1/4 PT1/4 51.7 10 14 8.2 4 iRia]
8 29.8 14.4 . . LI
oD, | PWT-08-3/8 PT3/8 49.6 11 118 [ 17 1.9 4 PLL-083/8 | © PT3/8 305 ez 11 | 18 a7 | "4 419 4 8le
PWT-08-1/2 PT1/2 53.1 14 18 21 13.9 4 PLL-08-1/2 PT1/2 593 14 21 13.9 4 Hil
: ¥ PWT-10-1/8 PT1/8 55 8 |22 17 6.5 | 6.5 PLL-10-1/8 PT1/8 59.7 | 8 17 65| 65
® PWT-10-3/8| '° | _PTa/4 58| 368 1 |20 17 |"®4[11.7 6.5 PLL-103/8 | '° PT3/8 374 eoo [ 11 | 22 [a7 | "84 417 65
‘ L LA il 14 |22 | 21 1431 7.5 PLL-10-1/2 PT1/2 65.7 | 14 21 143 7.5
A gw$1§1ﬁ Eﬂﬁ gg 180 gg 18 285 g-g PLL-12-1/8 PT1/8 63.7 | 8 21 65| 6.5
\ -12- : : PLL-12-1/4 PT1/4 65.7 | 10 21 8 6.5
- i Pwr-12-3/8] ' [ PTa/e 62 | 424 71 2219 | 21 [115 65 PLL-12:3/8 | 2 PT3/8 404 "eeo [ 11 | 22 21 | 2! [115] 65
\ PWT-12-1/2 PT1/2 64.5 14 |22 | 21 14 7.5 PLL-12-1/2 PT1/2 69.7 | 14 21 14 | 75
T L] S ,
e INCH-NPT s l#-Npig g
THIE T INCH-NPT sl -NPT#
it MODEL ®D | &P | rpbag) | L E A | B H | OPIFICE
=
PWT5/32-UNF UNF10/32 |38.8 3.6 7/16 2.5 WIQIDIEL ®D | ®P | (Thread) L E i B A | ORIFCE
PWT5/32-N01_| 5/32| 11 | NPT1/8 41.7] 211 [85 | 15 [7/16 3 PLL-5/32-UNF UNF10/32 | 325 36 =116 2
R a2 a1 T 10.5 9/16 3 PLL-5/32-N01 | 5/32 | 11 | NPT1/8 355 | 24 | 85 | 15 | 7/16 3
PWT3/16-UNF UNF10/32 |41.8 3.6 7/16 3 BLL-5/32-N0Z NPT1/4 38.5 105 o/16 3
_PWT3/16-NO1_| 5,45 | 43 | NPT1/8 45.41 55 8.5 | 45 | 7/16 3 PLL-3/16-UNF UNF10/32 | 32.5 3.6 7/16 2
PWT3/16-N02 NPT1/4 48.4 10.5 9/16 3 IR MBS e 85 CTRE =
PWT3/16-NO3 NPT3/8 1 49.4 - i K TpLiate-Noz | 1% 1 [TnpTia | se5 | 2°% [705 | '° [o/e | 3
—iwlxjﬁ"‘f 52‘511/0/32 j?'? g'g 1;; 4212 “PLL-3/16-N03 | NPT3/8 38.5 1.5 11/16 3
—EWTI/4-NO1_{ 4,4 | 43 8 L1 26 : 15 : PLL-1/4-UNF UNF10/32 | 37.5 3.6 1/2 2
—PWT1/4-N0O2__| NPT1/4 1 50.4 10.5 9/16 4.5 PLL-1/4-N01 NPT1/8 41.3 8.5 1/2 45 P L L G
PWT1/4-N03 NPT3/8 51.4 11.5 11/16 4.5 BT I I I K =2 252 : 15 : -
PLL-1/4-N02 NPT1/4 44.0 10.5 9/16 4.5
PWT5/16-N01 NPT1/8 47.0 8.5 9/16 6
PLL-1/4-N03 NPT3/8 45.0 1.5 11/16| 4.5
PWT5/16-N02 NPT1/4 49.0 10.5 9/16 6
5/16 | 14.4 29.8 18 PLL-5/16-NO1 NPT1/8 44.4 8.5 9/16 6
PWT5/16-N03 NPT3/8 50.0 11.5 11/16 6
PLL-5/16-N02 | 5/16 | 14.4 | NPT1/4 46.4 | 305 [ 10.5 | 18 [ 9/16 6
PWT5/16-N04 NPT1/2 53.0 14.5 718 6
PLL-5/16-N03 NPT3/8 50.4 11.5 11/16 6
PWT3/8-NO1 NPT1/8 52.7 8.5 11/16 5
PWT3/8-N02 NPT1/4 | 54.7 10.5 11/16 7 _PLL-3/8-N02 | NPT/1/4 50.0 10.5 11/16 4
—— SIS 3/8 | 18.4 : 36.8 - 22 PLL-3/8-N03 3/8 | 18.4 NPT3/8 51.0 | 37.4 11.5 22 | 11/16 7
PWT3/8-N03 NPT3/8 55.7 11.5 11/16 7
PLL-3/8-N04 NPT1/2 54.0 14.5 7/8 7
PWT3/8-N04 NPT1/2 58.7 14.5 718 7
PLL-1/2-N02 NPT1/4 57.5 10.5 3/4 8
e NPT1/4 64.6 10.5 7/8 7 172 | 21 404 | 14.5 | 22 9 E
PWT1/2-N03__| 1/2 | 21 [ NPT3/8 65.6| 42.4 [11.5| 22 [7/8 7 _PLL-1/2-N03 | NPT3/8 58.5 - e 3/4 .
£ PWT1/2-NO4 NPT1/2 e e — 7 PLL-1/2-N04 NPT1/2 61.5 . 7/8 B
oP [
@D ‘ | , alal []
‘ | | I METRIC-BSPP(G) 2 #li-BSPP(G)## 4L METRIC-BSPP(G) 2 1#l#-BSPP(G)I 4L s|5| THH——
H j
J T = il ‘
o ) MODEL ®D | (Thread) L E A B H ORIFICE MODEL ®D | (Thread) L E A B H ORIFICE :
PWT04-GO1 4 G1/8 42,6 | ,, 4 5.5 15 14 2.5 _PLL04-GO1 | , G1/8 42 o4 5.5 15 14 2.5 | -
| PWT04-G02 G1/4 44.3 ) 7.5 17 2.5 PLL04-G02 G1/4 44 7.5 17 2.5 |
n PWT06-G01 G1/8 44 1 55 14 2.5 _PLL06-GO1 | G 1/8 45.8 5.5 14 2.4 i
PWT06-G02 6 G1/4 | 462 | 26 7.5 15 [ 17 4 PLL06-G02 6 G1/4 47.8 | 25.2 7.5 15 17 4 |
PWT06-G03 G3/8 | 47.8 7.5 20 P PLL06-GO3 G 3/8 49 7.5 20 4 ;
PWT08-GO1 G1/8 | 46.5 5.5 14 4 PLL08-GO1 G1/8 48 5.5 14 4 >
T [T | PWT08-G02 8 G1/a | 485 | 590 | 7.5 | 44 |17 2 PLL08-G02 8 G 1/4 513 | 40 7.5 18 17 4 1 <
NG It o PWT08-G03 G3/8 50.2 : 7.5 20 4 PLL08-G03 G 3/8 52.6 : 7.5 20 4 \
l | 4 PWT08-G04 G1/2 53.5 10 24 4 PLL08-G04 G1/2 51.7 10 24 4 T
‘ PWT10-GO1 G 1/8 55.2 5.5 17 6.5 PLL10-GO1 G1/8 57.1 55 17 6.5
PWT10-G02 10 G 1/4 572 | 458 |75 oy [ 17 6.5 PLL10-G02 . G 1/4 59.2 75 . 17 6.5
i PWT10-G03 G 3/8 58.9 : 7.5 20 6.5 PLL10-G03 G3/8 60.8 37.4 7.5 20 6.5 —
ol _ PWT10-G04 G1/2 62.2 10 24 7.5 PLL10-G04 G1/2 65.8 10 24 7.5 = 4
PWT12-G02 G1/4 60 7.5 19 6.5 PLL12-G02 G1/4 66 7.5 19 6.5 < D
L S PWT12-G03 12 G3/8 61.7 | 424 | 7.5 22 | 20 6.5 PLL12-G03 12 G3/8 67.6 | 40.4 75 22 20 6.5 | _/
PWT12-G04 G1/2 | 65 10 24 7.5 PLL12-G04 G1/2 73.1 10 24 75 E—

(3 M 012 @&



ONE-TOUCH FITTINGS
(S IEE- SN

METRIC 21

PLJ

JIS~

MODEL D2 & DA P E L B ORIFICE
PLJ-04 4 4 11 24 40.5 15 2
PLJ-06 6 6 13 25.2 435 15 4
PLJ-08 8 8 14 4 30.5 49 18 6
PLJ-10 10 10 18.4 37.4 57 22 7
PLJ-12 12 12 21 40.4 62 22 9
PLJ-16 16 16 26 46.2 74 24 12
®D1 PLJ-0604 6 4 13 25.2 425 15 2
¢D2 PLJ-0806 8 6 14.4 30.5 455 15 4
PLJ-1008 10 8 18.4 37.4 59 18 6
PLJ-1210 12 10 21 40.4 59 22 7
S il INCH s
e
&i— MODEL oD | ®D2 | P L E A B ORIFICE
- PLJ5/32 5/32 | 5/32 11 33.7 24 22 15 2
PLJ3/16 3/16 | 3/16 11 433 | 25.2 24 15 2.6
B PLJ1/4 1/4 1/4 13 475 | 25.2 25 15 42
PLJ5/16 5/16 | 5/16 | 14.4 | 41.5 | 30.5 26 18 6
PLJ3/8 3/8 3/8 18.4 | 54.6 | 37.4 28 22 7
PLJ1/2 172 172 21 62.0 | 40.4 30 22 9
PLJ1/4-5/32 | 1/4 5/32 11 43.8 | 25.2 25 15 2
PLJ5/16-1/4 | 5/16 | 1/4 13.0 | 485 | 305 26 15 4.2
PLJ3/8-1/4 3/8 174 13.0 | 50.5 | 37.4 28 15 4.2
PLJ3/8-5/16 | 3/8 5/16 | 14.4 | 54.3 | 40.4 28 18 6
METRIC 21l
»D1 MODEL & D L E B D1 ORIFICE
PYJ-04 4 51.3 22.1 15 4 2
PYJ-06 6 52.9 26 15 6 3
PYJ-08 8 58.2 29.8 18 8 5.5
PYJ-10 10 69 36.8 22 10 7
PYJ-12 12 73.1 42 .4 22 12 7.5
dD2
E
. PP _
o0z |
‘ [ I INCH sl
J MODEL 4D |dD2| &P L E A B ORIFICE
[an]
) PYJ5/32 5/32 | 5/32 11 54.2 22.1 24 15 2.6
: ] PYJ3/16 3/16 | 3/16 13 57.9 26 24 15 2.6
i PYJ1/4 174 | 1/4 13 60.9 26 25 15 4
= PYJ5/16 5/16 | 5/16 | 14.4 60.5 29.8 26 15 5.6
B i PYJ3/8 3/8 | 3/8 18.4 68.5 36.8 28 18 7
| PYJ1/2 172 | 1/2 21 80.6 42.4 30 22 7
|
1
1 <
|
|
® D1 ‘
&P 013

METRIC 2l
MODEL D1¢’DD2 L E B1 B2 c P1 | ORIFICE
PW-06-04 | 6 4 365 | 222 15 i5 [ 32 | 13 3.3
PW-08-06 | 8 6 | 37.2 26 18 15 | 3.2 | 144 4
PW-10-08 | 10 8 | 441 | 296 22 18 | 42 | 18.4 5
PW-12-10 | 12 | 10 | 52.2 | 372 | 22 22 | 42 | 21 6.4
INCH ¥
MODEL oD1| oD2 | 4P1| L E c B1 | B2 |ORIFICE
PW3/16-5/32 | 3/16 | /32 | 13 | 365 | 222 | 32 | 15 | 15 3.3
PW1/4-6/32 | , , | 5/32 | ., | 365|222 32 | 15 | 15 3.3
PW1/4-3/16 3/16 372 ] 26 | 32 | 15 | 15 2.0
PW5/16-5/32 | = | 5/32 | ., . | 37.9 | 222 | 32 | 18 | 15 3.7
PW5/16-1/4 174 : 20 | 26 | 3.3 | 18 | 15 5.0
PW3/8-1/4 we L2 | g, 42 | 26 [ 32 | 22 | 15 5.0
PW3/8-5/16 5/16 4 221 206 | 42 | 22 | 18 7.0
PW1/2.5/16 | o | 5/16 | . 50 | 29.6 | 3.2 | 22 | 18 6.4
PW1/2-3/8 3/8 522 | 372 | 42 | 22 | 22 7.0
METRIC 2#l
MODEL o E B1 B2 ORIFICE
D1 D2
PG-06-04 4 6 35.2 15 15 33
PG-08-06 6 8 36.7 15 15 4
PG-10-08 8 10 43.4 18 22 5
PG-12-10 10 12 45.4 22 22 7
PG-16-12 12 16 48.4 22 24 8
INCH 5
MODEL 4D1 | D2 | &P1 | P2 E B1 B2 |ORIFICE
PG 3/16-5/32 | 3/16 | 5/32 11 11 35.0 15 15 33
PG 1/4-5/32 14 | _5/32 13 11 35.6 15 15 33
PG 1/4-3/16 3/16 11 38.2 15 4.0
PG 5/16-5/32 5/32 11 38.7 15 3.7
PG5/6-1/4 | 0 44 | 144 13 38.1 18 15 5.0
PG 3/8-1/4 1/4 13 39.7 15 5.0
PG 1/2-5/16 38 56 | 184 [4a4 | 410 22 18 7.0
PG 1/2-3/8 172 3/8 22 18.4 | 453 22 22 8.0

PW

b D1
D2
E
b P2
»d®D2
[ ‘ II[
N
m
‘M@‘

B1

D1

$D2
D P1
® D1
1
[ ! J
i
i @
i
!
L] "
|
!
| w
i N
[ ; ]
®D2
P P2

=N 3)



ONE-TOUCH FITTINGS

ek ik JIS

P H METRIC-BSPT(R) 2 1fil&-BSPT(R) 4L METRIC-BSPT(R) 2 #l%&-BSPT(R)IZ L P C F
MODEL | D (ThrTead) E L A | B H P d ORIFICE MODEL & D (Th;ad) L A B H &P |ORIFICE
PH-04-1/8 PT1/8 28 24 9 12 6.4 2.5 PCF-04-1/8 PT1/8 24 8 14 3
PH-04-1/4 | , [PT1/4 31.5[27.3 [11.6] 5| 14 41 |85 2.5 PCF-04-1/4 4 PT1/4 26.2 10 15 17 10 3 ®D
PH-04-M5 M5XP0.8 | 24.8 | 21.2 [ 4 8 2.5 2.5 PCF-04-3/8 PT3/8 27.3 11 21 3
PH-04-M6 M6XP1.0 | 24.8 | 22.2 |5 8 2.5 2.5 PCF-06-1/8 PT1/8 24.8 8 14 4.5
PH-06-1/8 PT1/8 30 24 9 12 6.4 4 PCF-06-1/4 6 PT1/4 24 10 15 17 12 4.5
PH-06-1/4 PT1/4 33 27.3 [11.6 14 8.5 4 PCF-06-3/8 PT3/8 28.4 11 21 4.5 ,
PH-06-3/8 | 6 | PT3/8 36.6 | 32 12.5]/15[ 19 13 [11.8 4 PCF-08-1/8 PT1/8 26 8 14 5.8 A »
PH-06-M5 M5xP0.8 | 26.4 | 21.2 [4 8 2.5 2.5 PCF-08-1/4 | o PT1/4 28.2 10 . 17 14 6 =t
PH-06-M6 M6XP1.0 | 26.4 | 22.2 |5 8 2.5 2.5 PCF-08-3/8 PT3/8 29.8 11 21 6
PH-08-1/8 PT1/8 30.3 | 24 9 12 6.4 4 PCF-08-1/2 PT1/2 31.7 14 24 8
PH-08-1/4 | o | PT1/4 34.4 | 27.3 [11.6| 451 14 | ;4 41 8.5 5 PCF-10-1/8 PT1/8 28.6 8 17 8 o
PH-08-3/8 PT3/8 39.7 32 [12.5 19 T l11.8 5 PCF-10-1/4 10 PT1/4 32.4 10 22 17 17 8
PH-08-1/2 PT1/2 42.6 | 41 15.6 24 13 5 PCF-10-3/8 PT3/8 33.2 1 21 8 :did
PH-10-1/8 PT1/8 37 24 9 12 6.4 4 PCF-10-1/2 PT1/2 85 14 24 8 ‘ D
PH-10-1/4 | ;4 | PT1/4 36.6 | 27.3 [11.6 | 55| 14 | 1g 4| 8.5 5 PCF-12-1/4 PT1/4 33.5 10 21 10 ‘ ]
PH-10-3/8 PT3/8 40.2 | 32 12.5 19 - 11.8 8 PCF-12-3/8 12 PT3/8 34.5 11 22 21 20 10 ! !
E PH-10-1/2 PT1/2 46 | 41 15.6 24 13 8 PCF-12-1/2 PT1/2 36 14 24 10 o
PH-12-1/4 PT1/4 37.5 | 27.3[11.6 14 8.5 5
B PH-12-3/8 | 12 | PT3/8 41 32 12.5|/22| 19 21 [11.8 8
PH-12-1/2 PT1/2 48.4 | 41 15.6 24 13 10 -
HilR ==
2 <
ol o \
4 1l 28 INCH-NPT #Hl%-NpTig 4 INCH-NPT # % NPT £ ' i
K MODEL éD | &P (ThrLad) L E A B H ORIFICE MODEL oD P T L A B H ORIFICE |
< \\ PH1/8-UNF 1/8 11 | UNF10/32[18.2 | 21.5 | 3.6 15 | 5/16 1.5 PCF5/32-N01 [ -, 10 NPT1/8 27.6 8.5 15 9/16 3.5
Il T PH5/32-UNF UNF10/32 [ 18.2 | 25.1 | 3.6 5/16 1.5 PCF5/32-N02 NPT1/4 29.6 10.5 11/16 3.5
PH5/32-N01__| 5/32| 11 [ NPT1/8 25.0] 30.5 | 8.0 | 15 | 7/16 3.0 PCF3/16-N01 |, o 12 NPT1/8 28.2 8.5 = 9/16 4.0 T
H}—’W PH5/32-N02 NPT1/4 28.8| 34.5 | 10.0 5/16 3.2 PCF3/16-N02 NPT1/4 30.2 10.5 11/16 4.0
d PH3/16-UNF UNF10/32 ] 18.2 | 26.6 | 3.6 5/16 1.5 PCF1/4-N01 NPT1/8 28.7 8.5 9/16 5.0 N
PH3/16-NO1 | 5 1ol 44 [ NPT1/8 25.0| 31.4 | 8.0 | ,5 [ 7/16 3.0 PCF1/4-N02 1/4 12 NPT1/4 30.7 10.5 15 [11/16 5.0 |
PH3/16-N02 NPT1/4 28.8 | 35.3 | 10.0 19/32 3.5 PCF1/4-N03 NPT3/8 32.7 11.5 7/8 5.0
PH3/16-N03 NPT3/8 33.7] 39.1 | 11.0 3/4 3.5 PCF5/16-N01 NPT1/8 29.0 8.5 9/16 6.0
PH1/4-UNF UNF10/32 | 18.2 | 28.7 | 3.6 5/16 15 PCF5/16-N02 | 5 4 14 NPT1/4 31.0 10.5 18 | 11/16 6.0
P H _ G PH1/4-NO1 14 | 13 [ NPT1/8 250 | 32.0 | 8.0 15 [ -7/16 3.0 PCF5/16-N03 NPT3/8 32.0 11.5 7/8 6.0 P C F - G
PH1/4-N02 NPT1/4 28.8 35.9 10.0 19/32 4.5 PCF5/16-N04 NPT1/2 35.9 14.5 15/16 6.0
PH1/4-N03 NPT3/8 33.7] 39.7 | 11.0 3/4 6.0 PCF3/8-N01 NPT1/8 31.8 8.5 9/16 8.0
PH5/16-N0O1 NPT1/8 25.0 | 33.0 | 8.0 7/16 3.0 PCF3/8-N02 | 54 17 NPT1/4 32.6 | 10.5 oo [ 11/16 8.0 *D
PH5/16-N02 | o 1ol 44 4 [NPT1/4 28.8 | 36.8 | 10.0 | 44 [19/32 4.5 _PCF3/8-N03 | NPT3/8 34.1 1.5 7/8 8.0
PH5/16-N03 . NPT3/8 33.7 | 40.1 11.0 3/ 4 6.0 PCF3/8-N04 NPT1/2 37.8 14.5 15/16 8.0
‘,\ PH5/16-N04 NPT1/2 39.4 | 45.8 | 14.0 15/16 | 6.5 _PCF1/2-N02 |, , 20 NPT1/4 36.2 | 10.5 22 7/8 10.0
T PH3/8-N02 NPT1/4 28.8 37.5 10.0 19/32 4.5 PCF1/2-N03 NPT3/8 37.6 11.5 7/8 10.0 /8 &
PH3/8-N03 3/8 |18.4| NPT3/8 33.7 | 42.1 | 11.0 | 22 | 3/4 6.0 ’¢>
oD PH3/8-N04 NPT1/2 39.4 | 47.3 | 14.0 15/16| 7.0 A
PH1/2-N03 1/2 | 21 LNPT3/8 33.7| 451 | 11.0| ,, | 3/4 6.0
| PH1/2-N04 NPT1/2 39.4 | 50.5 | 14.0 15/16 | 8.0
2 oP
x| b METRIC-BSPP(G) /#l4-BSPP(G)i 4 —
- Al -BSPP(G)IE 4L C ‘
] | _/ METRIC-BSPP(G) Al (G)IZ L MODEL oD T . A 5 " ORIFICE
: T (Thread)
e MODEL L (Thread) E ¢D | B || SlRFeS PCF04-G01 G1/8 24 6.5 14.2 14 3 @
PH04-G01 24 G 1/8 28 4 15 12 2.5 PCF04-G02 4 G1/4 26.2 9.5 14.2 17 3
.. B PH04-G02 27.3 G1/4 31.5 14 2.5 PCF06-G01 G1/8 248 6.5 15 14 45 -
PH06-G01 24 G1/8 30 12 4 PCF06-G02 6 G1/4 27 95 15 17 75 [ 1
T T 1 PH06-G02 27.3 G1/4 33 6 15 [ 14 4 PCF06-G03 G3/8 28.4 10.5 15 21 75
__ PH06-G03 32 G3/8 36.6 19 4 PCF08-GO01 G178 26 6.5 16.7 14 5.8 <
1 PH08-G01 24 G1/8 30.3 12 4 PCF08-G02 G1/4 28.2 9.5 16.7 17 6
ol o PH08-G02 27.3 G1/4 34.4 8 18 14 5 PCF08-G03 8 G3/8 27 10.5 16.7 21 6
— [l e ® PH08-G03 32 G3/8 37.9 19 5 PCF08-G04 G1/2 31.7 13.5 16.7 24 8 -
il PH08-G04 41 G1/2 42.6 24 5 PCF10-G01 G1/8 28.6 6.5 19.8 17 8
\ | PH10-G02 27.3 G1/4 36.6 14 5 PCF10-G02 . G1/4 31.6 9.5 19.8 17 8 .
= = PH10-G03 32 G3/8 40.2 10 22 19 8 PCF10-G03 G3/8 33.2 10.5 19.8 21 8 /7N
<| [ \M PH10-G04 41 G1/2 46 24 8 PCF10-G04 G1/2 35 13.5 19.8 24 8
T PH12-G02 27.3 G1/4 37.5 14 5 PCF12-G02 G1/4 335 95 218 21 10 T { *
PH12-G03 32 G3/8 41 12 22 19 8 PCF12-G03 12 G3/8 34.5 10.5 21.8 21 10
PH12-G04 41 G1/2 48.4 24 10 PCF12-G04 G1/2 36 13.5 21.8 24 10 NS

&P 015 @ 3



ONE-TOUCH FITTINGS

(S EEZSH

PMF

oD

T
4 )
N T
oP
“ b, T2
o | ] |
2w IE T
ST
‘ —— ‘<|
T1 )
Ve N
\ ) T
\J
w | |
S uC I

| T\
LA

T1
A ]
(-4-) =
N~

C3 D

METRIC-BSPT(R) 2 #l#-BSPT(R)#2 4L

METRIC 21l

JIS~

PZA

MODEL oD P M1 E B ORIFICE
PZA-04 4 11 7.2 35.6 15 3
PZA-06 6 13 7.8 38.2 15 5,
PZA-08 8 14.4 9.1 45 18 6
PZA-10 10 18.4 11.8 57.2 22 8
PZA-12 12 21 14 58.6 22 10
E
}
INCH i i
|
MODEL & D o P L E (@ B M1 M2 ORIFICE L \ J
PZA5/32 5/32 11 35.6 35.6 3.2 15 7.2 12.8 3 1
PZA3/16 3/16 13 38.2 38.2 3.2 15 7.8 15.0 5
PZA1/4 1/4 13 38.2 38.2 3.2 15 7.8 16.5 5
PZA5/16 5/16 14 .4 45 45 3.2 18 9.1 18.2 6
PZA3/8 3/8 18.4 57.2 57.2 4.2 22 11.8 20.3 8
PZA1/2 1/ 2 21 58.6 58.6 4.2 22 14 2585 10
METRIC %l P M |\/|
MODEL b D T L H B ORIFICE
PMM-04 4 M12XP1 30 14 15 3
PMM-06 6 M14XP1 31.5 17 15 5
PMM-08 8 M16XP1 34.5 19 18 6
PMM-10 10 M20XP1 41 24 22 8
PMM-12 12 M22XP1 44.8 27 22 10
INCH i
MODEL oD T L E B H ORIFICE
®dD
PMM5/32 5/32 M12X1.0P 30 4 15 14 3
PMM3/16 3/16 M14X1.0P 31.5 4 15 17 4 C f ]
PMM1/4 1/4 M14X1.0P 31.5 4 15 17 5 |
PMM5/16 5/16 M16X1.0P 34.5 5 18 19 7 |
PMM3/8 3/8 M20X1.0P 41 5 22 24 8 \
PMM1/2 1/ 2 M22X1.0P 44.8 5 22 26 11 i

K
MODEL D | (Thread) T2 L A | H1 | H2 B ORIFICE
PMF-04-1/8 PT1/8 237 | 8 | 14 15 25
PMF-041/4 | * pr1a | M12XP1 7 10 |17 | * 3
PMF-06-1/8 PT1/8 247 | 8 | 14 45
PMF-06-1/4 | 6 PT14 | M14xP1 [ 27 10 | 17 | 17 15 45
PMF-06-3/8 PT3/8 308 | 11_| 19 45
PMF-08-1/8 PT1/8 26 8 | 17 6
PMF-08-1/4 PT1/4 29 10 | 17 6
PMF-08-3/8 | °© praig | M16XP1 g8 | 11 | 21 | 1° 18 6.5
PMF-08-1/2 PT1/2 36 14 | 24 6.5
PMF-10-1/8 PT1/8 30 8 | 21 75
PMF-10-1/4 PT1/4 326 | 10 | 21 8
PMF-10-38 | ° praig | V2OXP1 e T [ o1 | % 22 8
PMF-10-1/2 PT1/2 38 14 | 24 8
PMF-12-1/4 PT1/4 336 | 10 | 24 9
PMF-12-3/8 | 12 PT3/8 | M22XP1 | 346 | 11 | 24 | 27 22 10
PMF-12-1/2 PT1/2 37 14 | 24 10

INCH-NPT 5% 5% - NPT &

T
MODEL | #D | P |rprad)| T2 L A | B | H1 |H2 |ORIFICE

PMF5/32-N01 | 5/32 | 10 | NPT1/8 [M12X1.0P | 27.1 | 4 | 8.5 | 15 | 9/16 | 14 3

PMF3/16-N01 NPT1/8 28.3 85 11716

pME3A6-N02 | > 18 | 12 npTa/a |M12X1 0P 503 105 '° 116 4| 4

PMF1/4-N01 NPT1/8 30.9 85 /16

pmrt/a-noz | A T3 IneTaa (MIAXTOP 500 1 4 [Hos | 10 [Aae |7 5

PMF5/16-N01 NPT1/8 29.5 8.5 3/4

PMF5/16-N02 | 5/16 | 14 |NPT1/4 |M16X1.0P [31.5 | 5 [105]| 18 | 3/4 |19 | 6

PMF5/16-N03 NPT3/8 32.5 1.5 178

PMF3/8-N02 NPT1/4 33.3 10.5 15/16

pMFaaN03 | o8 | 17 npras |MPOXTOP a5 8 i | 20 [sie |24 8

PMF1/2-N02 NPT1/4 39.0 10.5 15/16

PMF1/2-N03 | 1/2 | 20 [NPT3/8 |M22X1.0P [39.0 | 5 [11.5| 22 [15/16 |26 | 10

PMF1/2-N04 NPT1/2 41.0 14.5 15/16

METRIC-BSPP(G) » #i%-BSPP(G)iZ 4
MODEL (Thread)y | L | E T A H1 | B H2 | ORIFICE
PMF 04-G01_| G1/8 23.7 M12°1P | 9 14 | 142 | 14 | 25
PMF 04-G02 | G1/4 24.7 M14*1P | 9 17 |15 2 | 3
PMF 06-G01 | G1/8 27 M14*1P | 11 17 | 15 17 | 45
PMF 06-G02 | G1/4 30.8 M1451P | 12 17 |15 19 | 45
PMF 06-G03 | G3/8 26 M16*1P | 9 19 | 167 | 17 | 45
PMF 08-G01_| G1/8 29 M1651P | 11 19 [ 167 | 17 | 6
PMF 08-G02 | _G1/4 28.8 M1651P | 12 19 | 167 | 21 6
PMF 08-G03 | G3/8 36 s [Mi6TTP | 14 19 [ 167 | 24 | 65
PMF 08-G04 | G1/2 30 M20*1P | 9 24 | 19.8 | 21 6.5
PMF 10-G01__| G1/8 32.6 M20°1P | 11 24 [ 19.8 | 21 75
PMF 10-G02 | G1/4 33.8 M2051P | 12 24 | 198 | 21 8
PMF 10-G03 | G3/8 38 M2071P | 14 24 [ 198 | 24 | 8
PMF 10-G04 | G1/2 31.6 M20"1P | 9 27 | 218 | 24 8
PMF 12-G02__|_G1/4 33.6 M20*1P | 11 27 | 218 | 24 | 9
PMF 12-G03 | G3/8 34.6 M20°1P | 12 27 | 21.8 | 24 10
PMF 12-G04__| G172 37 M20*1P | 14 27 | 21.8 | 24 10




ONE-TOUCH FITTINGS

(S EEZSH

PGJ

¢ D1
D2
‘CDD'I‘
i
i
1
>
\
1
}
|
i
\
! oo
[
o s |
e
P

¢ D1

E
P
d®D2 ‘
L | L
[ I 1T T
i |
m'! |
| |
\ } i }
\WARIRW
i
- |
|
|
!
! <
|
|
|
‘ ® D1

&P 015

METRIC %l

METRIC 2

JIS~

PGT

MODEL b D2 A L b P $ D1 B ORIFICE
PGJ-04-06 21.7 36.5 6
PGJ-04-08 4 22 37 " 8 5 2.8
PGJ-06-08 22.7 41.6 8
PGJ-06-10 6 24.7 43.6 13 10 15 5
PGJ-06-12 26.7 45.6 12
PGJ-08-10 27.7 46.6 10
PGJ-08-10 28.7 47.6 14.4 12 18
PGJ-10-12 10 30 52 18.4 12 22 9

INCH il

MODEL $dD1 dD2 dP L A B ORIFICE
PGJ1/8-1/4 1/8 1/4 13 35.8 16.5 15 1.3
PGJ5/32-1/8 5/32 1/8 11 31.7 18.5 15 2
PGJ1/8-1/4 1/4 13 37.8 18.5 15 2
PGJ1/4-1/8 1/4 1/8 11 31.7 20.9 15 2.5
PGJ1/4-5/32 5/32 11 40.4 23.5 15 3.4
PGJ5/16-5/32 5/16 5/32 11 42.9 26.0 15 5,
PGJ5/16-1/4 1/4 13 48.0 29.7 15 4
PGJ3/8-1/4 a/8 1/4 13 48.0 31.3 18 5.6
PGJ3/8-5/16 5/16 14.4 44.7 25.0 18 6.5
PGJ1/28-1/4 1/4 13 48.3 30.9 15 5.7
PGJ1/2-5/16 1/ 2 5/16 14.4 48.5 33.2 18 7
PGJ1/2-3/8 3/8 18.4 51.8 31.8 22 8

METRIC 2

MODEL b D2 L E B b D1 ORIFICE

PWJ0604 4 51.3 22.2 15 6 3

PWJ0806 6 52.9 26 15 8 5

PWJ1008 8 58.2 29.6 18 10 7

PWJ1210 10 69 37.2 22 12 7.5

INCH %

MODEL $ D1 b D2 dP L E A B ORIFICE
PWJ1/4-5/32 1/4 5/32 11 55.2 21.0 25.0 15 3
PWJ5/16-1/4 5/16 1/4 13.0 61.9 29.0 26.3 15 5
PWJ3/8-1/4 3/8 1/4 13.0 64.2 35.0 28.0 15 5
PWJ3/8-5/16 3/8 5/16 14.4 62.8 35.0 28.0 18 6

MODEL |oDi |®D2| ®P1 | ®P2 | L E C | B1| B2 | M1 | M2 |ORIFICE
PGT 0604 6 4 13 1 254 | 416 32 15 15 7.9 13.8 3
PGT0806 | 8 | 6 | 144 | 13 | 294 | 461 | 32 | 18 | 15 | 97 | 170 5
PGT1006 | [ 6 [ 184 113 [319] 402 | ,, [ 22[ 15 | 1168 5
PGT 1008 8 | 184 | 144 | 335 | 492 <[22 ] 18 ~ |1 188 6
PGT1208 | 1, | 8 | 21 144 | 358 | 560 | ,, | 22 | 18 | ., [ 188 7
PGT 1210 10 | 21 184 | 376 | 56.0 <[22 [ 22 “ 219 8
PGT 1610 | ,o | 10 | 26 184 | 431 608 | 5 | 24 | 22 | . o] 228 8
PGT 1612 12 1 26 | 21 455 | 63.7 24 | 22 ~ [ 258 10
INCH i E
MODEL |oD1|®D2| ®P1 |®P2 | L | E | ¢ | B1| B2 | M1 | M2 | ORIFICE —B1 .
PGT 1/4-5/32| 1/4 | 5/32| 13 11 |26.6] 405 | 43 | 15 | 15 | 83 | 145| 3.2 —=H
PGT5/16-1/4| 5/16| 1/4 | 14.4 | 13 |28.4| 432 | 45 | 18 | 15 | 9.7 | 175 5.0 el
PGT3/8-1/4 |3/8 |1/4 | 18.4 | 13 |32.2| 486 | 45 | 22 | 15 | 11.0 | 175] 5.0 0
PGT3/8-5/16|3/8 | 5/16| 18.4 | 14.4 |33.5| 50.6 | 4.5 | 22 | 18 | 10.9 | 188 6.5 -
PGT1/2-3/8 [1/2 [ 3/8 | 21 18.4 |36.8] 585 | 45 | 22 | 22 | 12.8] 22.0] 80 |
:
QDD:
®P2
M2
METRIC 21l
MODEL ®>D L ORIFICE P I J
P1J04 4 37.0 25
P1J06 6 39.0 35
P1J08 8 41.0 5.0
PI1J10 10 44.0 7.0
P1J12 12 49.0 85
PIJ16 16 53.2 11.8
INCH #:#
MODEL @D L ORIFICE .
PIJ 5/32 5/32 36.0 25 o L
P1J 3/16 3/16 38.0 2.8 ©
PIJ1/4 1/4 40.0 3.5 L
PI1J 5/16 5/16 42.0 5.0
PIJ 3/8 3/8 45.0 7.0 L
PIJ1/2 1/2 45.0 9.2

020 @&



ONE-TOUCH FITTINGS

(S EEZSH

PA

C3 D

METRIC-BSPT(R) 4 l#-BSPT(R)# 2L
MODEL oD | oP T L N | E| A | B |H(tx) | ORIFICE
PAO4-M5 4 1 IM5x08p 182 | 21 | 251] 36 | 15 | 8 15
PA06-01 6 | 13 | R18 | 250 | 25 | 312] 8 15 | 11 3.0
PA08-02 8 | 144 | R1/4 | 288 | 296368 10 | 18 | 15 45
PA10-02 R1/4 | 288 388 10 15 45
PA10-03 10 | 184 Tpae 327 | ® [a22[ 11 | 2 [ 19 4.3
PA12-03 R3/8 | 327 459 | 11 19 43
PA12-04 2 | 2 Rl aea | (o4l 14 | 2 [ 2a 6.0
E
H B
i [l
i . =
! Hl ol a i ]
- \ ‘F Gl 4 ﬂ‘ i =
JTT it il
LN
T
INCH-BSPP(G) il #-BSPP(G)i2 4
MODEL oD | oP | T L E | A B |H(nex) | ORIFICE
PA06-GO1 6 | 13 | Gi/a | 235 | 250 | 335 | 45 | 15 12 30
PA0B-G02 8 | 14.4| G1/4 | 280 | 29.0 | 383 | 60 | 18 12 45
PA10-G02 10 | 1.4 | G1/4 | 280 | 350 [395 | 60 | 22 12 25
PA10-G03 10 “ "Ga/a | 325 | 350 | 425 | 60 | 22 14 6.0
PA12-G03 12 | ,, | .G/ | 325 | 41.0 [448 | 60 | 22 14 6.0
PA12-G04 12 Gi/2 | 340 | 41.0 503 | 75 | 22 19 8.0
E
H B
i .
:
j I ala AN i
I O S || Ll a S Y
4 S e -
i i
| il

METRIC-BSPT(R) 2 #l4-BSPT(R)#24L

JIS~

PHF

MODEL | ®D | ®P T T2 L| E| A1] A2| B |H(Hex)| oRIFICE
PHF04-M5 M5 0.8p | M5%0.8p |20.0(25.1| 3.6 | 7.0 8 15
PHFO04-M6 | , | ., [M6X1.0p|M6x10p[25.0(30.5[4.1 [70 | o | 11 2.0
PHF04-01 PT1/8 PT1/8_|30.2/30.5] 8.0 | 8.0 14 3.0
PHF04-02 PT1/4 PT1/4_|35.5|34.5] 10.0] 10.0 17 32
PHF06-M5 M5 0.8p | M5X0.8p | 20.0|27.8] 3.6 | 7.0 8 1.5
PHF06-M6 M6x1.0p | M6X1.0p | 25.0/31.2| 4.1 | 7.0 1 2.0
PHF06-01 6 | 13 _PTIB PT1/8_[30.2[31.2/8.0 80 | . [ 14 3.0
PHF06-02 PT1/4 PT1/4_|35.5]35.0] 10.0] 10.0 17 4.0
PHF06-03 PT3/8 PT3/8_|41.2]38.7 11.0] 11.0 21 5.0
PHF06-04 PT1/2 PT1/2_|50.0]44.9] 14.0] 14.0 24 5.0
PHF08-01 PT1/8 PT1/8_|30.2]33.0/ 8.0 | 8.0 14 3.0
PHF08-02 PT1/4 PT1/4 | 35.5|36.8] 10.0| 10.0 17 4.0
PHF08-03 8 |14.4 b33 PT3/8 |41.2|40.1] 11.0] 11.0] '8 [ 21 5.0
PHF08-04 PT1/2 PT1/2_|50.0|45.8] 14.0] 14.0 24 6.0
PHF10-01 PT1/8 PT1/8_|30.2]35.0/ 8.0 | 8.0 12 3.0
PHE10-02 | 4o [1g.4 _PT1/4 PT1/4_|35.5[38.0 10.0( 100 ,, | 17 4.0
PHF10-03 ' PT3/8 PT3/8 |41.2|42.2] 11.0] 11.0 21 5.0
PHF10-04 PT1/2 PT1/2_|50.0|47.5] 14.0] 14.0 24 6.0
PHF12-02 PT1/4 PT1/4 | 35.5|40.8] 10.0| 10.0 17 4.0
PHF12-03 12 21 PT3/8 PT3/8 |41.2(45.9| 11.0| 11.0| 22 21 5.0
PHF12-04 PT1/2 PT1/2 |50.0]50.1] 14.0] 14.0 24 6.0
INCH-NPT % il - NPTER £
MODEL |®D | ®P T T2 L | E | A| A2 | B |H(Hex) ORIFICE
PHF5/32-UNF | . | 1, | UNF10/32| UNF 10/32200(25.1(36 7.0 | . | 516 | 15
PHF5/32-N01 NPT1/8 | NPT1/8 | 309|30.5|8.5 |85 916 | 3.0
PHF3/16-UNF UNF 10/32 | UNF 10/32[ 20.0/26.6 3.6 | 7.0 516 | 15
PHF3/16:N01 |, | 13 [NPT1/8 |NPT1/8 [30.9[31.4(8.5 [85 | ,  [9716 [ 30
PHF3/16-N02 UNF1/4 | UNF1/4 | 35.8/35.3]10.5] 10.5 116] 40
PHF3/16-N03 NPT 3/8_| NPT 3/8 | 41.0/39.111.5 | 11.5 7/8 5.0
PHF1/4-UNF UNF 10/32 | UNF 10/32 20 |28.7|3.6 | 7.0 516 | 25
PHF1/4-N01 | . .| (3 [NPT1/8 [NPT1/8 [30.9(32.0(85 [85 | .5 | 916 | 30
PHF1/4-N02 NPT1/4 | NPT1/4 | 35.8/35.9(10.5]10.5 16| 4.0
PHF1/4-N03 NPT3/8 | NPT3/8 | 41.0(39.7 [11.5 | 11.5 78 5.0
PHF5/16-N01 NPT1/8 |NPT1/8 | 30.9]33.0|8.5 |85 o6 | 3.0
PHF5/16-N02 | 51 6| 44 4 [NPT 1/4 | NPT 1/4 | 35.836.8[105] 10.5| o [ 11/16] 40
PHF5/16-N03 “4'NPT3/8 | NPT3/8 |41.0140.1]11.5| 11.5 718 5.0
PHF5/16-N04 NPT12 | NPT1/2 | 50.0|45.8 |14.5] 145 1 6.0
PHF3/8-N02 NPT1/4 |NPT1/4 | 35.8(37.5[105] 105 6| 4.0
“PHF3/8-N03 | 3/8 |18.4 [ NPT3/8 |NPT3/8 |41.0(42.1(11.5|11.5| 22 | 7/8 50
“PHF3/8-N04 | NPT1/2 |NPT1/2 [50.0(47.314.5 145 1 6.0
PHF1/2-N03 | | ,, [NPT3/8 | NPT3/8 [41.0[45.1[11.5 [ 115] ,, | 78 50
“PHF1/2-N04 | NPT1/2 | NPT1/2 | 50.0(50.5]14.5] 14.5| 220 [ 6.0
METRIC-BSPP(G) A #il45-BSPP(G)i# &
MODEL | ®D| ®P | T1 | T2 L E | A1| A2 | B | HHex)| ORIFICE
PHF04-GO1 G1/8 | G1/8 | 33.9 | 312 50| 80 14 3.0
PHF04-G02| , |, [G1/4| Gl/4| 42.4 | 346] 65| 10.0] 17 3.2
PHF04-G03 G3/8 | G3/8 | 44.4 | 384 65| 11.0 21 32
PHF04-G04 G1/2 | G1/2| 49.9 | 42.0| 8.0 | 14.0 24 3.2
PHF06-GO1 G1/8 | G1/8 | 33.9 | 31.9] 5.0 | 80 14 3.0
PHF06-G02| . |13 [G1/4| G1/4| 424 | 353] 65| 10.0] .. 17 4.0
PHF06-G03 G3/8 | G3/8 | 44.4 | 39.1| 6.5 | 11.0 21 5.0
PHF06-G04 G1/2 | G1/2| 49.9 | 422] 8.0 | 14.0 24 50
PHF08-GO1 G1/8 | G1/8| 33.9 | 33.8] 50| 80 14 30
PHF08-G02 144 | G1/4 | G1/4 | 424 | 37.1] 65| 10.0| 44 17 40
PHF08-G03 G3/8 | G3/8 | 44.4 | 40.9| 65| 11.0 21 6.0
PHF08-G04 G1/2 | G1/2| 49.9 | 44.0] 8.0 | 14.0 24 60
PHF10-GO1 G1/8 | G1/8| 33.9 | 36.7| 5.0 80 14 30
PHF10-G02 184 [ G1/4 | G1/4 | 42.4 | 39.0] 6.5 10.0| 2 17 20
PHF10-G03| 10 G3/8 | G3/8 | 444 | 434| 65| 11.0 21 50
PHF10-G04 G1/2 | G1/2 | 49.9 | 46.4| 8.0 | 14.0 o1 60
PHF12-G02 G1/4 | G1/4 | 424 | 423 65| 100 17 20
PHF12-G03| 12 |21 [ G3/8 | G3/8 | 444 | 46.3| 65| 11.0| 22 21 50
PHF12-G04 G1/2 | G1/2 | 49.9 | 502 8.0 14.0 24 60

VR \
z| A b
i N~ 7
|
E
T2
A
<C 1
L . ‘ T
1] _
1 =L
’77’:77’7”A9
T Lt
- |
< !
| T
N
N
{ T
N S
T2
S
! <
! —
_ | ‘ [
I e
e el 11 Y
‘ LI
L
Ninm
T1
E
(027 @&



ONE-TOUCH FITTINGS

bt Sk JIS

P L M METRIC 2 il METRIC-BSPT(R) /2 #145-BSPT(R)## 4
MODEL |®D1|oD2| ®P | T L | E | A|B1|B2| J [Hi(Hex) H2(Hex)| ORIFICE MODEL |®D| ®P| T1 T2 L N | E | A1| A2 | B [H(Hex)| ORIFICE
PLMO4 | 4 [ 4 [11 |M12x10p|324[187[00 [15[ 15[ 40 14 | 14 30 PAF04-M5 | 4 [11_|M5X0.8p|M5x0.8p| 20.0 | 21.0 | 251 |36 |70 | 15 | 8 15
PLMO6 | 6 | 6 [13 | M14x10p[ 382] 204 [11.0[ 15 [ 1540 [ 17 | 17 45 PAF06-01 | 6 [13 | PT1/8 | PT1/8 | 302 | 250 | 31.2 |80 [80 | 15 | 14 30
PLM08 | 8 | 8 |144| M16x10p| 403] 231115/ 18 | 18 [ 50 | 19 | 19 6.0 PAF08-02 | 8 [14.4] PT1/4 | PT1/4 | 355 | 296 | 36.8 | 10.0 | 100 | 18 | 17 4.0
PLM10 | 10| 10| 184 | M20X10p| 423|237 120 22 | 22 [ 50 | 24 | 24 7.0 PAF10-02 PT1/4_| PT1/4_| 355 | 555 | 388 [10.0 [ 100 | ,, | 17 40
PLM12 | 12| 12|21 | M22x10p| 48.1] 27.7 150/ 22 | 22 | 50 | 26 | 26 10.0 PAF10-03 | 10184 pr3/s | Praig | 41.2 ~ [422 110 [110 21 5.0
PAF12-03 | [, [ P13 | PT3g [ 412 | . 1459 [0 [0 ,, | 21 50
PAF12-04 PT12 | PT12 | 50.0 ~ [750.1 | 140 | 140 24 6.0 T
INCH el
MODEL |®D1|®D2| ®P T L | E|A|B1]|B2| J |Hl(Hex) H2(Hex) ORIFICE 0 il
£ PLM5/32] 5/32|5/32] 11 | M12x1.0p | 32.4 | 18.7[9.0 [16.3]16.3] 40| 14 | 14 3.0 ‘ NN
_ . PLM3/16| 3/16|3/16] 13| M14x1.0p | 34.7 | 19.2]10.0/16.9 16.9] 4.0 | 17 | 17 3.0 —-—H U <
. B1 ‘ PLM1/4 | 1/4 | 1/4 |13 | Mt4x10p | 38.8| 205 11.0[17.4[ 17.4] 40| 17 | 17 45 Padn
] PLM5/16| 5/16 | 5/16| 14.4| M16x1.0p | 40.3 | 23.1[11.5[19.1]19.1] 50| 19 | 19 6.0 ]
& S e S ——— PLM3/8 | 3/8 |3/8 | 18.4| M20X10p | 42.2| 23.8]12.0/19.8[ 19.8] 50 | 24 | 24 70 il
&l o1 — PLM1/2 |1/2 [1/2 |21 | M22X10p | 484 | 28.3]15.0|23.0| 23.0| 50 | 26 | 26 9.0
: E
} ‘ T2 H
i 1 L T
| i o= \] = o~ \r | // B
Y i 3 il < I
= i
| 1 M
L Iﬁ 4 | | {E&
| **’T’*’” | 17 ’i{e
_“41 ®D2 7T§i‘§ il
- |
‘ T1
METRIC 2l INCH %4
PP MODEL oD | ®P | L A MODEL oD| oP| L A
PP04 4 4 |300] 177 PP5/32 532 | 532 30 18
PP06 6 6 | 34.0 19.4 PP3/16 316 | 3/16 | 33 19
PP08 8 8 380 212 PP1/4 174 | 114 | 34 20
PP10 10 | 10 [ 420 ] 238 PP5/16 5(16 | 5/16 | 38 22
PP12 12 | 12 [ 460 | 295 PP3/8 3/8 | 3/8 | 42 25
PP16 16 | 16 | 500 | 30.0 PP1/2 12 [ 112 | 46 28

| A
L
METRIC 2l INCH &
P P F MODEL | oD |oP | L A MODEL | oD | oP | L B
PPF04 4 |11 180 | 168 PPF5/32 | 532 | 11| 18 16.3
PPF06 6 |13 |190 | 176 PPF3/16 | 316 | 13| 19 16.8
PPF08 8 144210 | 187 PPF1/4 | 1/4 | 13 | 19 17.4
PPF10 10 | 18.4 | 230 | 196 PPF5/16 | 516 | 14.4 | 21 187
PPF12 12 [21 | 250 | 219 PPF3/8 | 358 | 184 | 23 20.2
PPF16 16 |26 | 275 | 240 PPFI2 [ 772 |21 | 25 2.0

oD

oP
[
i
i
i
|
®D

(3 MEED @EEEN( 3)



ONE-TOUCH FITTINGS

(S EEZSH

PLF

METRIC-BSPT(R) 2 il #-BSPT(R)Z 4L

METRIC %

oP
®D
i
T
\
i

JIS~

PKG

T
B

ala |

elel [IIIT ]

&P 025

MODEL oD Thread L E A B H(Hex) ORIFICE MODEL D1 DOD2 L B1 DP1 O P2 M1 M2
PLF04-M5 M5x08p| 23.8 7.0 10 PKG6-4 6 4 50.5| 15 13 8 34
PLF04-M6 4 | 11 [MBXO8p[ 238 |, 7.0 15 10 25 PKG8-4 8 4 53 | 15 144 9 344
PLF04-1/8 R1/8 248 8.0 14 PKG8-6 8 6 80 | 18 144 | 13 9 | 406
PLF04-1/4 R4 | 268 10.0 17 PKG10-6| 10 6 80 | 22 184 | 144 | 105 | 42
__PLF06-M5 | M5x08p| 29.8 7.0 12 PKG10-8| 10 8 70 | 22 184 | 144 | 105 | 47 >
PLFO06-M6 M6 X 0.8p| 29.8 7.0 12 ‘
PLF06-1/8 R1/8 30.8 8.0 14 e »D2
PLFO6-1/4 CHR(IL= R4 | 328 | 2°?[ 100 '° 17 4 INCH il D1
B Rys | 338 LD = MODEL ®D1| ®D2| oP1 |0P2 c | B1|B2| M1| M2
PLF06-1/2 R1/2 35.8 14.0 24
PLF08-1/8 R1/8 332 8.0 14 PKG3/16-5/32 | 3/16] 5/32| 11 |11 26.3| 4.2 | 15 | 15 | 7.6 |34.0
PLFO08-1/4 144 | _RIA 35.2 10.0 | 4g 17 PKG1/4-5/32 1/4]5/32] 13 [11 26.6| 4.2 | 15 | 15 | 8.8 [36.0
PLF08-3/8 8 : R3B | 362 |95 110 22 6 PKG5/16-5/32 5/32 11 28.2] 4.2 15 | 9.2 |34.8] 3.
“PLFO8-1/2 | R1/2 38.2 14.0 24 PKG5/16-3/16 | 5/16| 3/16|14.4 [11 289/ 4.2 | 18 | 15 | 9.3 [41.1] 4
PLF10-1/8 R1/8 37.3 8.0 17 PKG5/16-1/4 1/4 13 i.g 12 9.7 [43.5] 5
PLF10-1/4 R1/4 37.3 10.0 17 PKG3/8-1/4 1/4 13 32.2| 4. 11.0[43.5] 5
PLF10-3/8 10 | 184 —pRag T 383 | 3 4110 22 22 7 PKG3/6-5/16 3/8 1516|184 144 34542 | %2 [18 |85 |470] 6
PLF10-1/2 R1/2 403 14.0 24
PLF12-1/4 R1/4 417 10.0 19 L
PLF12-3/8 12 | 21 R3/8 427 | 4041 11.0 22 22 10
PLF12-1/2 R1/2 447 14.0 24
i 1 M
o o [ — L#,,,_,_ L
& | | | -
o1 5
u ] I Lﬁﬁ%f
INCH-NPT &4 -NPTig &L | RS N
| | aQ
MODEL ®D | ®P | Thread L E A B H(Hex) | ORIFICE R
PLF5/32-UNF UNF 10/32] 21.5 70 7/16 25 ® D2
PLF5/32-N01| 5/32| " [NPT1/8 | 225 | 24 [g5 | 15 9/16 25 o P2
PLF5/32-N02 NPT 1/4 | 225 10.5 1/16 25 a2
PLF3/16-UNF UNF 10/32]  20.5 7.0 7116 25
PLF3/16-N01| 3/16| 13 | NPT 1/8 225 | 252 |85 15 9/16 25
PLF3/16-N02 NPT1/4 | 25.5 10.5 11/16 25 o
PLF1/4-UNF UNF 10/32] 21 7.0 1/2 3 METRIC 2
PLF1/4-NO1 14 13 NPT 1/8 25 252 -85 15 9/16 4 MODEL ® D1 DPD2 L B2 M2 | ®P1| op2
PLF1/4-N02 NPT 1/4 27 10.0 11/16 4
PLF1/4-N03 NPT 3/8 28 1.5 7/8 4 PKJ6-4 6 4 80 15 |8 34 13 | 11
PLF5/16-N01 NPT 1/8 25.9 8.5 9/16 6 PKJ8-4 8 4 84 15 19 3441 4, ,110
PLF5/16-N02| 5/16| 14.4 [NPT1/4 | 27.9 | 30.5 [105| 18 1/16 6 PKJ8-6 8 6 91 15 19 40.6 13
PLF5/16-N03 NPT3/8 | 28.9 11.5 7/8 6 PKJ10-6 | 10 6 102 15 110.5 ] 42 | 0,113 T
_ PLF3/8-N02 | NPT 1/4 28.5 10.5 11/16 7 PKJ10-8 10 8 104 18 | 10.5 | 47 14.4
PLF3/8-N03 | 3/8 | 18.4 [NPT3/8 | 295 | 37.4 [ 115 | 22 7/8 7
PLF3/8-N04 NPT1/2 33 14.5 15/16 7 s
PLF1/2-N03 | ./, | p¢ |NPT3/8 33 204 5] L, 7/8 9 INCH ¢ D2 9~
PLE1/2-N04 NPT1/2 | 36.5 14.5 15/16 9 MODEL oD1| ®D2| ©J| A |[DP1 E| Cc| B1|B2|M1|M2
PKJ3/16-5/32| 3/16 | 5/32| 3/16| 24 | 11 25.8| 4.2| 15 | 15 | 7.6 | 34.0
PKJ1/4-5/32 | 1/ 4 | 5/32|1/4 | 25 | 13 26.6| 4.2| 15 | 15 | 8.8 |36.0
PKJ5/16-5/32 5/32 28.5| 4.2 15 [9.2 |34.8
" . PKJ5/16-3/16| 5/16 | 3/16| 5/16| 26 |14.4 29.0/ 42| 18 [ 15 |9.3 |411
METRIC-BSPP(G) % il #-BSPP(G )iz &t PKJ5/16-1/4 174 30 4.2 15 [9.7 [435
PKJ3/8-1/4 174 32.2| 4.2 15 [11.0]43.5
@ ®pP | Th H(H
MODEL D P read | L E A B (Hex) | ORIFICE PRI3/8 516 | 3/8 [5g| 38 | 28 |184 e P =
__PLF04-GO1 | , |, G1/8 248 | ,, 8.0 15 14 3
PLF04-G02 G1/4 26.8 10.0 17 3
__PLF06-G01 | G1/8 30.8 8.0 14 4
PLF06-G02 6 |13 G1/4 328 | 252| 100 | 15 17 4 A | B1
PLF06-G03 G3/8 33.8 11.0 22 4 |
PLF08-GO1 G1/8 33.2 8.0 14 6 — i
PLF08-G02 G1/4 | 352 10.0 17 6 ~ S P T T L 7,5|E
pLFos-co3 | & |4 [ Gas | 3e2 | 305 110 | '8 22 6 e — | # —le: e
PLF08-G04 G1/2 38.2 14.0 24 6 - A = w
PLF10-GO1 G1/8 37.3 8.0 17 7 pﬁ#@—
PLF10-G02 G1/4 37.3 | 37.4| 100 | 29 17 7 i N
PLF10-G03 | 10 |18.4 | G3/8 38.3 11.0 22 7 c T @
PLF10-G04 G1/2 40.3 14.0 24 7 =
PLF12-G02 G1/4 41.7 10.0 19 8 %DD#
PLF12-G03 | 12 | 21 G3/8 427 | 40.4| 110 | 22 22 10 P2
PLF12-G04 G1/2 44.7 14.0 24 10

026 &)



ONE-TOUCH FITTINGS

METRIC-BSPT(R) 2 il#-BSPT(R)## 4t

PKD

N-Packing(NBR)
- ( NBR)

N-Holder(Brass)
N- (Brass

Packing Prop(POM)
(POM)

H-Packing(NBR)

Needle(Brass) )

Lock Nut(Alumiunm) )

Metal Body(Brass) )
Packing(NBR) (NBR)

Back Ring(POM) (POM)
Collar(ZINC) ()

Nylon Tube

j & Polyurethane Tube

Sleeve(POM) (POM)

H- (NBR) Lock Claws(SUS) (sus)
O-Ring(NBR)
O (NBR) Resin Body(PBT)  ( PBT)
Fluid Air

Operating pressure

0~0.9MPa(0~9.2Kgf/cm?)

Negative pressure

50KPa(0.5Kgf/cm?)

Operating temperature

0~60°C

Tube material

Polyurethane and Nylon

MODEL |®D1|®D2| L | B1| B2 M1 A H | T |ORIFICE
PKD6-6-1/8 | 6 4 |68 [ 15 ] 13 8 [ 12 [1/8] 2.6
PKD6-6-1/4 | 6 4 |70 [ 15[ 13 10 | 14 [1/4] 3.2
PKD8-4-1/4| 8 4 |73 [ 15[ 15 ] 10 | 14 [1/4] 3.2
PKD8-6-1/4| 8 6 |80 | 15 | 15 40.6 10 [ 14 [1/4] 4
PKD8-6-3/8| 8 6 |81.2] 15 | 15 40.6 11 [ 17 [ 3/8 5
PKD10-8-3/8] 10 | 8 [93 [ 22 [ 18 547 1 | 17 | 3/8 5
INCH-NPT &l - NPT 4
MODEL oD1|®D2| T | A [®P1OP2 (o} M1|M2| H [ORIFICE
PKD3/16-5/32-N01 | 3/16 | 5/32 [NP518 | 8.5 [11.5]10.5 3.2 7.6 |34.0/7/16] 2.6
PKD1/4-5/32-N01_| 1/4 | 5/32 |NPT18| 85 | 13 |10.5 3.2 8.8 [36.0 1/2] 3.2
PKD5/16-5/32-N02 5/32 105 9.2 |34.8 3.2
PKD5/16-3/16-N02 | 5/16 | 3/16 |NPT1/4| 10.5 [14.5|11.5 4.2 9.3 141.1| 916 4.0
PKD5/16-1/4N02 1/4 13 9.7 1435 5.0
PKD3/8-1/4N03 1/4 13 11.0 [43.5 150
PKD3/8-5/16-N03_| /8 5716|198 | 115 175745 4.2 8.5 [47.0'"" 6.6
L
H A B1
Py ]
( \ - f f f
,,_,,<, N I A -7+
k ) | ] 1 - | |l e'e
— e | — — =
o Y\D Y ! I I ! I | ‘ | = w
i O e
| | | 3
T C (- \ | «Q
I I
P D2
o P2
M2
MERIC-BSPP(G) 2 il#-BSPP(G)## 4L
MODEL ®D1 | dD2 C H B2 (mAm) T E ORIFICE
PKD0604-G01 | 6 4 3.2 [24.7 15 |5.5| G1/8 14 2.6
PKD0804-G02 | 8 4 4.2 [28.4 15 |7.5] G1/4 17 3.2
oD ﬁ PKD0806-G02 | 8 6 3.2 [27.6 15 |7.5] G1/4 17 3.2
[ 4 PKD1008-G03 | 10 8 4.2 [31.5 18 |7.5] G3/8 20 4
T
L
H B1
PN | |
( \ —4 | i 1 ‘
S [ 1 S T | . i ——H 2l
\ ) \ \ ! -l e'e
—q | 5 e e L =
~= L/ YT - - F w
\ O =
| | ‘ N
T C L ‘ @
I ; I ; | i ———
D2
O P2

M2

&P 027

Red

73

Type Control out Control in
A A
Symbol 7
Sleeve Color BLUE RED
METRIC 2l
L
MODEL oD MIN MAX E M2 OP B ©
SCF-04 4 26 29 40 14 11 15 3.2
SCF-06 6 38 44 47 20.5 13 15 4.2
SCF-08 8 42.8 47.8 52 22 14.4 18 4.2
SCF-10 10 48.2 53.2 62.8 26 18.4 22 4.2
SCF-12 12 49.5 57 74 32 21 22 4.2
INCH il
L
MODEL oD MIN MAX E M1 M2 OP B C
SCF-5/32 5/32 29.9 33.3 45.1 5.9 14.8 11 16.3 3.2
SCF-3/16 3/16 35.0 39.5 50.3 8.3 20.5 11 16.8 3.2
SCE-1/4 1/4 35.0 39.5 50.3 8.3 20.5 13 17.4 4.2
SCF-5/16 5/16 37.4 42.1 55.7 9.8 23 14.4 18.7 4.2
SCF-3/8 3/8 42.9 49.5 61.4 10.7 28 18.4 20.2 4.2
SCF-1/2 1/2 47.4 53.6 69.8 1.7° 32 21 22 4.2

Control in type

$D2

s el
R EklE R
028 &3



ONE-TOUCH FITTINGS

METRIC-BSPT(R) % #l#-BSPT(R)2 4

L

-
MODEL ®D | Thread | E i viax] A
SC04-M5 M5*0.8P | 26.1| 295 | 31 P
SC04-P51/8 | 4 | PT1/8 28.7| 354 | 41.3 | 9
SC04-PT1/4 PT1/4 33.1| 426 | 47.5 | 11.6
SC06-M5 M5*0.8P | 26.4| 295 | 31 4
SC06-PT1/8 PT1/8 291 354 | 41.3 | 9
SC06-PT1/4 | 6 [ PT/14 34 42.6 | 47.5 [ 11.6
SC06-PT3/8 PT3/8 39.6| 48 53 | 12.5
SC08-PT1/8 PT1/8 32.4| 354 | 41.3 | 9
SC08-PT1/4 PT1/4 37.3| 426 | 47.5 | 11.6
SC08-PT3/8 | 8 [ PT3/8 40 48 53 | 12.5
SC08-PT1/2 PT1/2 46.6| 53.5 | 61 | 15.6
SC10-PT1/8 PT1/8 37 354 | 41.3 | 9
SC10-PT1/4 | 4¢ | PT1/4 41 426 | 47.5 | 11.6
SC10-PT3/8 PT3/8 43.3| 48 53 | 12.5
SC10-PT1/2 PT1/2 49 535 | 61 | 15.6
SC12-PT1/4 PT1/4 42 426 | 47.5 | 11.6
SC12-PT3/8 | 12 | PT3/8 45.9| 48 53 | 12.5
SC12-PT1/2 PT1/2 49 535 | 61 | 16.6
INCH-NPT %l & -NPTHZ 4
L
MODEL ®D AN —= A B
SC1/8-UNF 18 | 27.2 | 302 | 215 | 3.6 15
SC5/32-UNF 27.2 | 30.2 | 251 | 36
SC5/32-NO1 5/32 | 34.9 | 401 | 30.5 | 8.0 15
SC5/32-NO2 40.0 | 45.7 | 34.5 | 10.0
SC3/16-UNF 27.2 | 30.2 | 26.6 | 3.6
SC3/16-NO1 316 | 34.9 [ 40.1 [ 31.4 [ 80 15
SC3/16-NO2 40.0 | 45.7 | 35.3 | 10.0
SC3/16-NO3 46.7 | 55.0 | 39.1 | 11.0
SC1/4-UNF 27.2 | 30.2 | 28.7 | 3.6
SC1/4-NO1 1)4 3491 40.1 [ 32.0 [ 8.0
SC1/4-NO2 40.0 | 45.7 | 359 | 10.0 | 15
SC1/4-NO3 46.7 | 55.0 | 39.7 | 11.0
SC5/16-NO1 34.9 | 40.1 | 33.0 | 8.0
SC5/16-NO2 516 | 40.0 [ 457 [ 36.8 [ 10.0| 44
SC5/16-NO3 46.7 | 55.0 | 40.1 | 11.0
SC5/16-NO4 53.0 | 60.2 | 45.8 | 14.0
SC3/8-NO2 40.0 | 45.7 | 37.5 | 10.0
S C G SC3/8-NO3 3/8 [ 46.7 | 55.0 | 42.1 | 11.0 | 18.7
SC3/8-NO4 53.0 | 60.2 | 47.3 | 14.0
SC1/2-NO3 1/2 467 | 550 | 451 | 11.0 | o,
SC1/2-NO4 53.0 | 60.2 | 50.5 | 14.0
METRIC-BSPP(G) Ail%-BSPP(G)ig4L
T L
MODEL D | Thread | B FwiN T WA A
SC04-G1/8 4 G1/8 28.7 | 354 | 413 | 9
SC04-G1/4 G1/4 33.1| 426 | 475 | 11.6
~SC06-G/18__| G1/8 291 | 35.4 | 413 | O
SC06-G1/4 G1/4 34 426 | 475 | 116
SC06-G3/8 6 G3/8 30.6 | 48 53 12.5
~SC08-G1/8_| G1/8 32.4 | 354 | 413 | 9
SC08-G1/4 G1/4 37.3 | 426 | 475 | 11.6
SC08-G3/8 8 G3/8 40 48 53 12.5
SC08-G1/2 G1/2 46.6 | 535 | 61 15.6
_SC10-G1/8 | G1/8 37 35.4 413 | 9
SC10-G1/4 G1/4 41 426 | 475 | 116
SC10-G3/8 10 [ Gars 43.3 | 48 53 12.5
SC10-G1/2 G1/2 49 535 | 61 15.6
SC12-G1/4 G1/4 42 426 | 475 | 11.6
SC12-G3/8 12 [ G3/8 459 | 48 53 125
SC12-G1/12 G1/2 49 535 | 61 15.6




COMPACT ONE-TOUCH FITTINGS
RRAR Y PR 2 K

METRIC-R,Metric 2%, 2 HRL

MODEL | ®D | ®P T L A|B H | X | Y |ORIFICE
PC 03M3C 7.0 | M3X05P [17.1] 4.0 [111] 7 1.5
PCO3MSC | . [7.2 | M5x08P|17.7[46 [111]8 | | ,, [ 20
Lock Claws(SUS)  ( SUS ) PC 03M6C 72 | M6x10P [ 182 51 [11.1] 8 2.0
) PC 0301C 72 | RI8 145 8.0 [11.3] 10 2.0
Resin body(PBT)  ( PBT) Collar(Brass)  ( ) PC 04M3C 8.0 | M3X05P [17.7 | 4.0 | 116 8 1.5
PCO4M5C | 4 [8.0 | M5X08P[18.2][ 46 [11.6] 8 | 494 | go | 24
Sleeve(POM) (P OM) PC 04M6C 8.0 | M6x10P | 18.8 | 5.1 | 11.6] 8 3.0
PC 0401C 10.0 | R18 17.3[ 80 [11.6 ] 10 3.0
PC 06M5C 10.0 | M5x08P | 19.4 | 46 [12.8] 10 2.4
A ,, PCO6M6C | 6 [10.0| M6x10P | 19.9| 51 |[12.8] 10 | 124 | 102| 24
O-Ring(NBR)O  ( NBR) PC 0601C 10.0 | R18 196 | 8.0 | 12.8] 10 5.0

Nylon Tube & Polyurethane Tube
Back Ring(Brass) ( )
Metal Body(Brass) ( Packing(NBR) ( NBR)
Thread O-Ring(NBR)
METRIC-R,Metric 2 #l4, AHEg PL-C

MODEL |®D| ®P T L|E|A|B | H|X| Y |ORIFICE
PL 03M3C M3X05P | 18.5 3.0 8 15
PL 03M5C 76 [M5x08P | 19.1]| 172/ 3.6 | 111 8 |92 |72 | 24
PL 03M6C M6X 1.0P | 19.6 4.1 8 2.4
Fluid Compressed Air PL 04M3C M3X0.5P | 19.6 3.0 8 1.5
PL 04M5C M5X0.8P | 20.2 3.6 8 25

Operating pressure 0~0.9MPa(0~9.2Kgf/cm?) PLO4M6C 87 rVex10P | 207182141165 1104 /82 —55% | E

) PL0401C R1/8 20.7 8.0 10 25 B
Negative pressure -750mmHg PLO6M5C M5x 08P | 22.3 36 8 25 ; , } ‘

. o PL 06M6C 108 M6 X1.0P | 22.8| 19.4[ 41 |128[ 8 |124[102| 25 ‘ H ‘ \
Operating temperature 0-~60"C PLO0601C Rig 28] 80 10 25 77@7— > % g| AN
Tube material Polyurethane and Nylon ‘ | = ;

‘ ===
i
Cr T
. N s 1 I g
ORDERING CODE il s {¢ & \u <
TN
PC 06 01 C T -

METRIC-R,Metric 2%, AR

| | \ \
T w— — rr— MODEL |oD|oP| T L |E|A|B|H|X]|Y |ORFICE
odel %5 i b *Metric Th R(PT) Th ? = 3 ik 51
5 ube Outer Dia( ) A read Type *Mctric Thread&R(PT) Thread #2 £ PT 03M3C M3%05P | 185 30 8 15
SO .. o PTO3M5C | 3 |76 | M5X0.8P | 19.1 | 26.6| 3.6 | 11| 8 |o2 |72 | 2.4 PT_( ;
Metric size 4L~} Metric size 240~ PT 03M6C M6X1.0P | 19.6 41 8 24
code | 03 " 08 code | o v Vo o1 PT 04M3C M3X05P | 19.6 3.0 8 1.5
PT 04M5C g7 | M5X08P [ 20.2 36 58 2.5
Dia 23 | o4 6 Dia | M3X05 | M5X08 | M6X1.0 | R1/8 PT04M6C | 4 | 8 [Mex10P | 20.7|28-6[ 4.1 | 1106 5104 |82 T3,
PT 0401C R1/8 20.7 8.0 10 3.0
PT 06M5C M5X08P | 22.3 36 8 2.5 .
PTO6M6C | 6 | 108| M6X10P | 22.8|31.0| 4.1 | 128 8 |124|102] 3.0 5
PT0601C R1/8 22.8 8.0 10 3.0 ‘ ‘

L] il

F(D_‘D’
[
e
|
|

=1

&P 031 @EEEN( 3



COMPACT ONE-TOUCH FITTINGS
RRAR Y PR 2 K

METRIC %l

METRIC-R,Metric 2, 2Ahlgg

JISP

P U C'C MODEL ®D DdP E B X Y ORIFICE
PUC 03C 3 7.6 23.2 11.1 9.2 7.2 2.4
PUC 04C 4 8.5 24.5 11.6 10.4 8.2 3.0
. PUC 06C 6 10.7 26.6 12.8 12.4 10.2 4.0
E
B
= | —
— ml 7‘ ml
[" el
| —
, L] I
PUL-C METRIC 4
MODEL ®D P L E C X Y ORIFICE
PUL 03C 3 76 | 171 ] 171 3.2 | 111 | 9.2 7.2 2.4
PUL 04C 4 85 | 185|185 | 32 [ 116 | 104 | 8.2 3.0
PUL 06C 6 107 218 [ 218 [ 3.2 | 128 | 12.4 | 10.2 4.0
éD
E
B
i —
‘ ala
T I 1 mT &) e
‘ =
_ 3 L
|
— 1
METRIC 2 il
PUT'C MODEL oD |®P| L E C B |M1 | M2| X Y | ORIFICE
PUT 03C 3 |76 [171]17.1] 32 [11.1 [ 5.4|10.7][92 | 72 2.4
PUT 04C 4 |85 | 185[18.5] 3.2 [11.6 | 5.8 [11.6 | 10.4| 82 3.0
PUT 06C 6 |1057] 218 |21.8| 3.2 [12.8 | 6.9 [13.8] 12.4]| 102 4.0
E
FL
ol — I
ato
Bl

L
M1
I
f
|
(@] [

&P 035

MODEL |®D|®P T E| A | B|H | X |Y |ORIFICE
PST 03M3C M3 < 05P | 28.3 3.0 8 15
PSTO3M5C | 3 | 76 | M5x08P | 28.9 | 133| 3.6 |11.1| 8 |92 |72 | 24
PST 03M6C M6 < 1.0P | 29.4 4.1 8 24
PST 04M3C M3 X 05P | 29.8 3.0 8 1.5
PST 04M5C M5 % 0.8P | 30.4 3.6 8 2.5
psTo0aMmeC | ¥ | 87 [Mex10P | 300 14-2[ 41| "6 g | 104|182 3%
PST 0401C R18 30.9 8.0 10 3.0
PST 06M5C M5 % 08P | 33.5 3.6 8 25
“PST06M6C | 6 | 108 MBX10P | 34.0 | 16.5| 4.1 | 12.8[ 8 | 124[102 [ 3.0
PST 0601C RIB 34.0 8.0 10 3.0

E
I —
T om
| g
I M-Sy
ala
N =8
n
I | I
immi 3
v/
T TN\
e
,7‘
METRIC Al

MODEL oD | op L E c B X Y | ORIFICE

PY 03C 3 7.6 26.8 15.2 3.2 11.1 9.2 7.2 2.4

PY 04C 4 87 | 280 | 174 | 32 | 11.8 | 104 | 82 3.0

PY 060 6 10.8 | 30.8 | 216 | 32 | 129 | 124 | 102 | 40

B
* |
a|al ~ L
58l =T v
METRIC 2l

MODEL |oD1|loD2oP1|oP2l E | B1| B2 | X1| Y1| X2 | Y2 | ORIFICE

PG 03C 4 | 3(85 | 76 23.8|11.6|11.1/104|82 |92 | 7.2| 24

PG 04C 4 | 3 (107 76 [24.2[12.8[11.1]12.4] 10.2]92 | 72| 25

PG 06C 6 | 41107 85]26.3/12.8/11.6/12.4| 10.2/104] 82| 3.0

E
B2 B1 |
[ ’J{{ 7T‘—
SE S
8| & &, 9

PST-C

&

PY-C

PG-C

oD

037 @&



COMPACT ONE-TOUCH FITTINGS

AR PR 2k

PMM-C

POC-C

D

&P 035

STOP-FITTING
bk

Fluid

Compressed Air

Operating pressure

0~0.9MPa(0~9.2Kgf/cm?)

JIS~

SPRING(SUS)

VALVE O-RING(NBR) 0
BACK VALVE(POM)  ( POY)
CASE(PBT) ( PBI)

(sus)
U-PACKING(NBR) U (NBR)

BACK RING(POM)  ( POM)

COLLAR(ZINC) ()

TUBE

(NBR)

METRIC &1l
MODEL ®D T L E B H ORIFICE
PMM 03C 3 M8x<0.75p, 23.6 | 2 11.3 10 2.0
PMM 04C a M10x1.0p| 24.5 | 3.5 11.8 12 3.0
PMM 06C 6 M12x<1.0p| 27.3 | 4 12.9 14 5.0
I L |
Py ‘ — ‘
AR =EE=
DTW 11 IS
\ e
y i —
-
! SN
METRIC-R, METRIC 2#i4, 2A#sg
MODEL |oD | op i L| A | B H | X | Y |OoRIFICE
PCF 03M3C M3x0.5P | 17.3 | 4.0 8 25
PCEO3M5C | 3 | 7.5 | M5x08P | 18.8| 6.0 | 111 8 | 92 | 7.2 | _25
PCF 03M6C M6x1.0P | 18.8 | 6.0 8 2.5
PCF 04M3C M3x0.5P | 18.2 | 4.0 8 2.5
OCF 04M5C M5%0.8P | 19.7 | 6.0 8 3.0
. 11. 4| 82|30
ocFoamec | 4 | 80 [mex10p[19.7] 6.0 68 1 104]| 82 —3,
PCF 0401C R1/8 23.2] 85 12 3.0
PCF 06M5C M5%0.8P | 21.4 | 6.0 10 4.0
PCFO06M6C | 6 | 10.0 M6x1.0P|21.4] 6.0 | 12.8[ 10 | 12.4| 10.2[ 4.0
PCF 0601C R1/8 25.4 | 8.5 12 2.0
L
B
— H]
— F—
]
= il
A
METRIC-R, METRIC 2#l4, 2#liga
MODEL | ®D| opP| T L | A |B H X | Y |ORIFICE
POC 03M3C 7.0 | M3<05P| 17.1| 4.0 15 15
POCO3M5C | 3 | 7.0 | M5x0.8P| 17.7 | 46 |111 | 2.0 | 92 | 72 |_2.0
POC 03M6C 8.0 | M6<1.0P| 18.2 | 5.1 2.0 2.0
POC 04M3C 8.0 | M3<05P| 17.7 | 4.0 15 15
POC 04M5C 8.0 | M5<0.8P| 18.2 | 4.6 25 25
Poc0amec | 4 [ 80 [ Mex1.0P 188 51 | 116 [30 ] 104 82 [ 30
POC 0401C 10.0 | R1/8 17.3] 8.0 3.0 3.0
POC 06M5C 10.0| M5x0.8P| 19.4 | 4.6 25 2.5
POC 06M6C | 6 | 10.0| M6x<1.0P| 19.9 | 51 | 12.8 | 3.0 | 12.4| 102 3.0
POC 0601C 10.0 | R1/8 19.6 | 8.0 2.0 2.0
L
— B
g -
= i
A

Negative pressure -750mmHg
Operating temperature 0~60°C O-RINGINBR)O  ( NBR)
| Q ‘ ET\JWLEASE SLEEVE(POM)
Tube material Polyurethane and Nylon B (PoM)
BODY(BRASS) ) ﬁ ‘ 50DY Q.RIN LOCK CLAW(SUS) (sus)
i (NBR) CASE BODY(BRASS) ()
L o (N VALVE(POM) ( POM)
{ VALVE O-RING(NBR)
i
i
[
METRIC- BSPT(R) 2 #l4-BSPT(R)IZ 4L P
T
MODEL | @D | @P | T L A B H (& S F) C
o
SPC 04-01 4 10 | R1/8 | 26.1 8 15.3 10 ‘
SPC 06-01 R1/8 8 12
spC06-02 | © 2 Ri/a | %88 [0 | 170 14
SPC 08-02 R1/4 10 14 ®D
spco0s03 | 4 I'Rag | 383 [ 14 | 86 17 4 B
SPC 10-02 R1/4 10 17 N
SPC 10-03 10 17 | R3/8 | 35.6 [ 11 20.3 17 “ E
SPC 10-04 R1/2 14 21 7 N Telo
SPC 12-02 R1/4 10 19 S o St e L B |U1j
SPC 12-03 12 | 18.8 [ R3/8 | 41.9 11 227 19 \ y -
SPC 12-04 R1/2 14 21 < —\___
H A
L
METRIC- BSPT(R) 2 #l4%-BSPT(R)I 4L
MODEL | D | oP| T L E A |B S P L
SPL04-M5 M5x0.8P| 27.3 4.6
SPL04-M6 | 4 10 [M6x1.0P] 26.9 | 34.5[ 41 | 15.3
SPL04-01 R1/8 29.8 8.0
SPL06-M5 M5x0.8P 30.3 | oo [ 4.6
SPL06-01 6 12 [R1/8 32.8 8.0 | 17.0
SPL06-02 R1/4 35.8 10.0 E
SPL08-01 R1/8 38.2 | 486 | 8.0
sPL0s-02 | © 4 R1/4 41.2 10.0 | 186 B
SPL10-02 R1/4 40.3 10.0 r i
SPL10-03 10 17 [R3/8 41.3 | 550 | 1.0 | 20.3 ala ™
SPL10-04 R1/2 44.3 14.0 slel T 11 *'*”"T'
SPL12-03 R3/8 45.7 11.0 i :
spL1204 | '2 | 188[Rip 48.7 | 837 [0 227 i 2
T AT L)
[
Ryt
|/ ‘
METRIC 2l
MODEL ®D op L B S P U
SPU 0400 4 10.5 421 15.7
SPU 0600 6 12.5 46.0 17.0
SPU 0800 8 14.8 53.7 19.1
SPU 1000 10 17.5 58.2 20.2 )
SPU 1200 12 20.5 67.1 22.7

P
D

036 @&



CHECK VALVE

Al

Fluid

Compressed Air

Operating pressure

0~0.9MPa(0~9.2Kgf/cm?)

Negative pressure

CAS|

-750mmHg

Operating temperature

0~60°C

Tube material

O-RING(NBR) 0

Polyurethane and Nylon

BODY(BRASS)

VALVE O-RING(NBR) 0
BACK VALVE(POM)

E(PBT)

( NBR)

(PBJ)

s

SPRING(SUS)

(NBR)
(POY)

(sus)
U-PACKING(NBR) U

(NBR)
BACKRING(POM)  ( POM)
COLLAR(ZINC) ()
TUBE

BODY O-RIN
(NBR)

O (NBR

ET\JWLEASE SLEEVE(POM)
(POM)

LOCK CLAW(SUS)  ( SUS)

CASE BODY(BRASS) ()
VALVE(POM) ( POM)

VALVE O-RING(NBR)

TWO TOUCH
FARRET Sk

FITTING

Fluid

Compressed Air

Operating pressure

0~0.9MPa(0~9.2Kgf/cm?)

JIS~

BODY(POM) (POM)

METRIC THREAD

CVPC e METRIC-BSPT(R) il %-BSPT(R)IZ 4L
i MODEL »D DdP T L A B H
A CVPC 04M5 M5x08P | 314 | 36 153 |10
CVPCO04M6 | 4 10 | MBX10P | 304 | 46 153 |10
T CVPC 0401 R1/8 273 | 80 153 |10
PN — CVPC 0601 | 6 19 | RIB 326 | 80 163 | 12
M N CVPC 0602 R1/4 326 | 100 | 163 | 14
7 N o] of [t - CVPC0801 | g 14 |_RIB 349 | 80 183 | 14
-8 el -t —t—t == B CVPC 0802 R1/4 372 | 100 | 183 | 14
\, Y i — CVPC 1003 | 4o > | R3B 563 | 110 | 203 | 22
- g CVPC 1004 R12 583 | 140 | 203 | 22
‘ e | | & CVPC1203 | ., s |_ROB 623 | 120 | 233 | 24
H ~ CVPC 1204 R12 653 | 140 | 233 | 24
CVPF 2y BSPT-(R) BSPT-(R) BSPT(R)&4-BSPT(R)E4L
' MODEL T T2 L A1 A2 H
T2 CVPF01-01 | R1/8_| Ri8 28.1 8 8 12
CVPF02-02 | R1/4 | Ri/4 34.1 11 11 17
CVPF03-03 | R3/8 | R38 53.8 12 12 22
., L CVPF04-04 | R12 | RIS 61 14 14 24
A2 A1
N e
7Y ——
\ ) T2 AT T~ T I
[
- | — 7
T1
CVPU METRIC %l
MODEL ®D ) L B
dD
CVPU 0400 4 105 423 15.7
. CVPU 0600 6 125 475 17.0
CVUP 0800 8 14.8 56.4 19.1
| B CVPU 1000 10 23 65.2 205
- _ | __ CVPU 1200 12 25 73 23.3
* I — = iH2[
L | ‘ el e
C3 MED

N i -750mmH ]
egative pressure 9 —
Operating temperature 0~60°C N
Tube material Polyurethane and Nylon /I ] 1 1
A
72—
NUT(POM) ( POM) R(PT) THREAD R( PT)
METRIC-BSPT(R) 2 #il%-BSPT(R)IZLL -
MODEL ®D T L A H1 H2 C K
CK-06-01 6 R1/8 27.5 7.0 12 13
CK-06-02 R1/4 30.5 9.0 15 ®D
CK-08-01 R1/8 29.5 9.0 14
CK-08-02 8 R1/4 29.0 9.0 14 15
CK-08-03 R3/8 31.7 10.2 19
CK-10-02 10 R1/4 33.4 9.2 17 17
CK-10-03 R3/8 34.4 10.2 19
CK-12-02 " R/4 39.0 9.2 17
CK-12-03 R3/8 41.2 10.2 19 19
METRIC-BSPT(R) 2 #l%-BSPT(R)IZ4L
MODEL @D T L EA A H1
GCK-06-01 6 R1/8 24.5 26.0 7.0 12
GCK-06-02 R1/4 26.5 29.5 9.0
_ GCK-08-01 | R1/8 24.5 25.5 8.0
GCK-08-02 8 R1/4 26.0 29.0 10.0 14
GCK-08-03 R3/8 27.5 32.5 11.0
GCK-10-02 10 R1/4 30.0 32.0 12.0 17
GCK-10-03 R3/8 31.0 34.7 12.0
_ GCK-12-02 | R1/4 32.0 41.5 11.0 .
GCK-12-03 12 R3/8 34.0 415 12.0
METRIC 2l
MODEL ®D L E C M1 M2 H
FCK-06 6 31.1 48.3 4.3 5.7 11.2 12
FCK-08 8 32.0 18.0 4.3 6.6 12.2 14
FCK-10 10 40.0 54.0 4.3 8.3 13.4 17
FCK-12 12 47.7 68.0 4.3 9.3 13.7 19

038 &)



HAND VALVES

e JIS?

METRIC-BSPT(R) 2 #i%-BSPTi 4L HVS F
MODEL |®D| T |®P|H#x)|dC| N| E | B | A [ K1 |[K2|[L1| L2|M1|M2
HVSF06-1/8]  |PT1/8 14 8.0 216 35.6
HVSF06-1/4| 6 [PT1/412.5] 14 |16.5|18.0| 40.5| 17.6| 10.0 |12.2| 24.6 | 26.2| 38.6 | 18.3| 19
HVSF06-3/8]  |PT3/8 17 11.0 25.6 39.6
SPOOL(BRASS) () capPoM)  ( pom HVSF08-1/8 PT1/8 14 8.0 21.6 35.6
‘ HVSF08-1/4| 8 |PT1/4|14.8] 14 |16.5|18.0| 40.5| 18.7| 10.0 [13.0 [ 24.6 | 27.5( 38.6 | 18.3| 19
PINEBRASS)  ( 1 COLLAR(BRASS) () HVSF08-3/8]  [PT3/8 17 11.0 256 39.6
CAM(POM) ‘ GUIDERINGA(BRASS) () HVSF10-1/4 PT1/4 17 10.0 23.0 39.5
WIO-RING(NBR) | VALVE (POM) (P omn) HVSF10-3/8| 10 [PT3/8/17.5] 17 |19.3|21.2| 41.0| 19.6| 11.0 |14.5[24.0 | 31.0[ 40.5 | 21.5| 24
wro  (NBR) | U-PACHING (NBR)U ~ ( NBR) HVSF10-1/2 PT1/2 21 14.0 27.0 43.5
RELEASE SLEEVE(POM)  ( POM) HVSF12-1/4 PT1/4 19 10.0 24.6 411
o | HVSF12-3/8| 12 [PT3/8p0.5] 19 [19.3|21.2| 41.0| 21.9| 11.0 |17.7[25.6 | 34.2[ 42.1 | 21.5| 24
] HVSF12-1/2 PT1/2 21 14.0 28.6 451
D L 2&% _
LB
5 M2
TUBE ‘(‘D—C‘
GUIDE RING B(BRASS)  CASS(PBT) COLLAR (BRASS) ) ‘ f |
BODY(BRASS)  ( ) (PBT) LOCK CLAW(SUS)  ( suUs) |
O-RINGINBR) © (NER) BACK RING (POM) ( POM)
INCH-NPT 2% i - NPT £
MODEL [®D| T |®P [Hwx) ®C| N | E [ B | A | K1 |K2| L1 |L2 |M1|M2 ~ 1 A
o) (vex)| ®C ‘.‘.
HVSF1/4-N 01 NPT1/8 916 85 23.1 371183 19 T iﬁi -
HVSF1/4-N02 |1/ |NPT1/4|12.6|9/16 | 16.5|18.0(40.5 [17.7|.10.5]| 12.5|25.1| 26.5|39.1 | 183 | 19 e
HVSF1/4-N03 NPT3/8 11116 15 26.1 40.1 /183 19
HVSF5/16-N01 NPT1/8 9/16 19.1] 85 23.1 371183 19
Fluid Compressed Air HVSF5/16-N02| 5/16| NPT1/4| 14.8 | 9/16 | 16.5|18.0(40.5 [19.1| 10.5| 13.9(25.1|27.9|39.1 [ 183 | 19
HVSF5/16-N03 NPT3/8 116 15 26.1 401|183 | 19
Operating pressure 0~0.9MPa(0~9.2Kgf/cm?) HVSF3/8-N02 NPT1/4 1116 105 235 400 (215| 24
HVSF3/8-N03 | 3/8 [ NPT3/8]17.5 [11/16| 19.3 |21.2|41.0 |19.1| 115 14.4 | 245|30.0|41.0 |215 | 24
Negative pressure -750mmHg(10Torr) HVSF3/8-N04 NPT1/2 78 145 275 440|215 24
- . HVSF1/2-N01 NPT1/4 3/4 105 25.1 416|215 24
Operating temperature 0~60"C HVSF1/2-N03 | 1/2 [NPT38|21.0 [3/4 | 19.3|21.2(41.0 |23.2| 11.5] 17.8|26.1|34.3 |426 | 215 | 24
— RallurEEne eod N HVSF1/2-N04 NPT1/2 7/8 145 29.1 456|215 24
ORDERING CODE T {5
HVSF 06 G01 METRIC-BSPP(G) 4l 45-BSPP (G) 12 4L
MODEL |®D| T |®P |H#x)|®C|N [E | B | A | K1 |K2 [ L1 |[L2 |[M1 [M2
\ HVSF06-G01 G18 5.0 18.6 32.6 H VS F - G
HVSF06-G02 | 6 |[G14 |12.5|12.5 [16.518.0 405 [17.6 [6.5 |12.2 [20.1 | 26.2 [34.1 [18.3 | 19
e e e — . HVSF06-G03 G3/8 6.5 20.1 34.1
Model %5 Tube Outer Dia % 4h% Thread Size 240~ HVSF08-GO1 GiB8 50 186 26
METRIC SIZE INCH SIZE HVSF08-G02 | 8 [G1/4 |14.8|14.8 [16.518.0 405 [18.7 [6.5 |13.0 [20.1 | 27.5 [34.1 |18.3 | 19
HVSF T SR SR R(BSPT) NPT G(BSPP) HVSF08-G03 | | GaB 6.5 20.1 34.1
. . . HVSF10-G02 Gl/4 6.5 185 35.0
CODE DIA. CODE  DIA. 01:1/8 N 01:1/8 Go1:1/8 HVSF10-G03 | 10 [ G3/8 |17.5|17.5 [19.3]21.2|41.0 |19.6 | 6.5 |14.5 [18.5 |31.0 [35.0 |21.5 | 24
6 26 14  21/4 02:1/4 N 02:1/4 G 02:1/4 HVSF10-G04 GIR 8.0 20.0 36.5
03:3/8 . : HVSF12-G02 G1/4 6.5 201 | 36.6 |
8 28 516 2 5/16 et N 03:3/8 G 03:3/8 HVSF12-G03 | 12 [G3B | 205 | 205 [19.3[21.2 |41.0 [21.9 [6.5 |17.7 [20.1 |34.2 [36.6 |21.5 | 24
10 @10 318 23/8 ’ N 04:1/2 G 04:1/2 HVSF12-G04 G2 8.0 21.6 38.1
12 212 1/2 21/2 M2

|
| 2-04.3
|

D M1

&P 035 040 @&



HAND VALVES

T

HVFS-G

HVFS

&P 071

BSPT(R)-METRIC BSPTig &2 il 4

BSPT(R)-BSPT(R)BSPT(R)IZL-BSPT(R)MALL

MODEL |[®D| T |®P|HHex)| ®C| N | E B | A |K1|K2|L1|L2|M1|M2
HVFS 01-06 PT1/8 14 8.0 [21.6 35.6
HVFS 02-06 | 6 |PT1/4/12.5 14 |16.5|18.0|40.5|17.6 | 10.0|24.6 |12.2 |38.6|26.2 [18.3 | 19
HVES 03-06 PT3/8 17 11.0] 25.6 39.6
HVFS 01-08 PT1/8 14 8.0 [21.6 35.6
HVFS 02-08 | 8 |PT1/4/14.8 14 |16.5|18.0|40.5|18.7 | 10.0|24.6 |13.0 [38.6 |27.5[18.3 | 19
HVFS 03-08 PT3/8 17 11.0] 25.6 39.6
HVFS 02-10 PT1/4 17 10.0]23.0 39.5
HVFS 03-10 | 10|PT3/8/17.5] 17 |19.3|21.2|41.0|19.6 | 11.0|24.0 |14.5 [40.5]31.0 [21.5| 24
HVFS 04-10 PT1/2 21 14.0]27.0 43.5
HVFS 02-12 PT1/4 19 10.0[ 24.6 41.1
HVFS 03-12 | 12 |PT3/8/20.5 19 |19.3|21.2|41.0|21.9 [ 11.0/25.6 |17.7 [42.1]34.2 [21.5| 24
HVFS 04-12 PT1/2 21 14.0] 286.6 45.1
NPT-INCH NPT#g g5 il 5
MODEL |®D| T |®P |HHx|®C| N | E | B | A |K1|K2|L1|L2|M1|M2
HVFS N01-1/4 NPT1/8 916 8.5 [23.1 37.1 18.3| 19
HVFS N02-1/4 | 1/4 [NPT1/4| 12.6 | 9/16 | 16.5 {18.0 | 40.5 | 17.6 | 10.5]25.1 | 125 | 39.1|265| 18.3| 19
HVFS N03-1/4 NPT3/8 11/16 11.5[26.1 40.1 18.3| 19
HVFS N01-5/16 NPT1/8 916 8.5 [23.1 37.1 18.3| 19
HVFS N02-5/16 | 5/16|NPT1/4| 14.8 [9/16 | 16.5 |18.0 | 40.5 | 18.7 | 10.5|25.1|13.9|39.1|27.9| 18.3| 19
HVFS N03-5/16 NPT3/8 11/16 11.5[26.1 40.1 18.3| 19
HVFS N02-3/8 NPT1/4 11/16 10.5[23.5 40.0 21.5 24
HVFS N03-3/8 | 3/8 [NPT3/8| 17.5 | 11/16| 19.3 |21.2 | 41.0 | 196 | 11.5[24.5 | 14.4 [41.0|30.9 | 21.5| 24
HVFS N04-3/8 NPT1/2 718 14.5[27.5 44.0 21.5| 24
HVFS N02-1/2 NPT1/4 34 10.5[25.1 41.6 21.5| 24
HVFS N03-1/2 | 1/2 |NPT3/8| 21.0 [3/4 | 19.3 |212 |41.0 | 21.9 | 11.5|26.1|17.8 [42.6|34.3|21.5| 24
HVFS N04-1/2 NPT1/2 78 14.5]29.1 45.6 21.5| 24
!
I
NN)
] IS
(S
.
BSPP(G)-METRIC BSPP(G)IRZ—2 &
MODEL |[®D| T | ®P |H(Hex)| PC|HHe| E | B | A1| K1| K2| L1| L2 |M1 | M2
HVFS G01-06 G1/8 14 8.0 [ 18.6 32.6
HVFS G02-06| 6 |G1/4|12.5] 17 |16.5(18.0/40.5|17.6] 10.0] 20.1]| 12.2| 34.1] 26.2| 18.3| 19.0
HVFS G03-06 G3/8 20 11.0] 20.1 34.1
HVFS G01-08 G1/8 14 8.0 [18.6 32.6
HVFS G02-08| 8 [G1/4|14.8] 17 [16.5(18.0/40.5|18.7 10.0] 20.1| 13.0| 34.1] 27.5| 18.3| 19.0
HVFS G03-08 G3/8 20 11.0] 20.1 34.1
HVFS G02-10 G1/4 17 10.0] 18.5 35.0
HVFS G03-10| 10|/G3/8|17.5| 20 |19.3/21.2/41.0|19.6| 11.0| 18.5| 14.5|35.0| 31.0| 21.5| 24.0
HVFS G04-10 G1/2 24 14.0] 20.0 36.5
HVFS G02-12 G1/4 19 10.0] 20.1 36.5
HVES G03-12| 12[G3/820.5[ 20 [19.3[21.2|41.0|21.9[ 11.0| 20.1| 17.7[36.6| 34.2| 21.5| 24.0
HVFS G04-12 G1/2 24 14.0] 21.6 38.1
M2
e C
[
| 2-04.3
| i H T
w | —— j >,
N el Ml 1T - - o
! I [
LN 5 Al
K2 K1
L2 L1

MODEL | T1| T2 [Heex|HHex)| ®C| N| E | A1| A2| B |K1 | K2| L1|L2| M1|M2
HVSS01-01 |R1/8| R1/8 | 14 | 14 | 16.5| 18.0|40.5| 8.0 | 8.0 |17.6| 21.6/21.6| 35.6 35.6 18.3] 19
HVSS02-01 R1/8 8.0 [17.6 21.6 35.6
HVSS02-02 |R1/4| R1/4 | 14 14 |16.5/ 18.0|40.5| 10.0[10.0({17.6| 24.6|24 6| 38.6[ 38.6| 18.3| 19
HVSS03-02 R1/4 10.0(18.7 24.6 38.6
Fves03.03 [R3BR3E | 17 | 17 |19.321.2|41.0) 11,0470 T157] 24.0 54 g1 40.5[40°g) 215 24
HVSS04-03 R38 | 51 | 21 T 1.0[18.7 24.0 40.5 51
S S0-03 R12 R 72 19.3) 21.2|41.0| 14.01 -0 1571 28,6280 4511908 21,5/ 24
NPT-NPT NPT#2 £-NPTHZ 47
MODEL | T1 | T2 |H(Hex)|HHex|®C| N | E | A1| A2| K1|K2|L1 | L2|M1|M2
HVSS NO1-N01|NPT1/8[NPT1/8| 9/16 | 9/16 |16.5 | 18.0 | 40.5| 8.5 | 8.5 | 23.1] 23.1] 37.1/ 37.1/18.3| 19
HVSS N02-NO1 NPT1/4 9/16 8.5 | 25.1] 25.1 37.1
HVSS N02-N02|NPT1/4 [NpT1/4] 9/16 | 9/16 |16.5 | 18.0 | 40.5| 10.5] 10.5] 24.6| 24.6] 39.1] 39.1|18.3| 19
HVSS N03-N02 NPT3/8 11/16 10.5] 24.5] 23.5 40.0
HVSS N03-N03| NPT3/8[NpTasg| 11/16 1116 | 193 [ 212 | 41.0| 11571 5754 5] 24.5] 41-0[20.0/21-5| 24
HVSS N04-N03 NPT1/2 34 11.5] 29.1] 29.1 42.6
19.3 |21.2[41.0| 145
Hvss No4-Noa V" T"2[NpT12] T8 778 14.5] 29.1] 20.1] **6[45.6]21-5| %4
BSPP(G)-BSPP(G) BSPP (6)#24-BSPP () #2 4L
MODEL | T1| T2 |HHex|HtHex)| ®C| N | E | A1[A2 |[K1 |K2 [L1 |L2 |[M1|M2
HVSS G01-G01|G1/8,G1/8| 14 | 14 |16.5] 18.0 40.5| 5.0] 5.0|18.6| 18.6]32.6/32.6) 18.3] 19
HVSS G02-GO01 14 5.0[20.1/18.6 32.6
HVSS G02-G02 |G1/4/G1/4| 17 17 [16.5/18.0{40.5| 6.5 6.5/20.1/20.1|34.1[34.1/ 18.3| 19
HVSS G03-G02 17 .5/ 18.5/18. .
mG3/8 G3/8| 20 20 19.3|121.2141.0| 6.5 gg 122 122 35.0 ggg 21.5| 24
HVSS G04-G03 20 6.521.6/20.1 36.6
Y33 500-003 6112/G1/2| 24 [2019.3(21.2|41.0| 8.0 (2321820135 1138851 5 24
2-©4.3
| H1 T
w 1 7
&
N A1l
K1
L1

T1

JIS~

HVSS

b
t

042 &)




HAND VALVES

i JIs+
HVU METRIC 2l

MODEL |oD1|oD2|®P1|loP2| ®C| N| E | B1| B2| K1| K2| L1| L2| M1| M2
HVU06-06 | 6 | 6 | 12.5] 12.5| 16.5] 18.0/ 405 | 17.6 | 17.6| 12.2| 12.2| 26.2 | 26.2| 183 | 19
HVU08-06 6 12.5 17.6 12.2 26.2
HVUO08-08 8 | 8| 14.8| 14.8| 16.5/18.0/405| 187 [ 18.7| 130 13.0| 275 [27.5| 183 | 19
HVU10- 8 . . . .
% 1051 17.5%_2 19.3] 212/ 41.0| 196 13; 145 ﬁg 31.0 gzg 215| 24
HVU12-10 10 17.5 19.6 14.5 31.0
D1 IVUTs 2] 12/ 12| 205 pa| 193] 212|410 | 219 (130 177 1221 342 [ 202 215 | 24
D2
INCH 2l
MODEL |®oD1®D2[®P1[oP2 ®C| N |E |B1|B2| K1| K2| L1 L2 M1| M2
HVU1/4-1/4 | 1/4 | 1/4 | 12.6|12.6] 16.5| 16.5 40.5| 17.7| 17.7| 12.5| 12.5| 26.5| 26.5| 18.3] 19
HVU5/16-1/4 1/4 12.6 19.1 17.7 12.5 26.5
HVU5/16-5/16 | 5/16] 5/16| 14.8[14.8| 16.5| 16.5/40.5[19.1| 19.1] 13.9| 13.9| 27.9[ 27.9] 18.3| 19
HVU3/8-5/16 | , .| 6/16 14.8 19.1] 19.7 13.9 27.9
HVU3/8-3/8 3/8 | 17-5[17.5| 19.3] 19.3]41.049.7[19.7) 144["14.4) 309 30.9] 21.5 24
HVU1/2-3/8 3/8 175 23.2]19.7 14.4 30.9
mvUt/a-1i2 | "2 2] 210 2r0] 193] 193|410 3351232 178178 343 3ag 215 X
2-©4.3
1h]}
NN ~f—|
L o DI,,,,, o L aal=
oo alele
i } i
N B2 B1
K2 K1
L2 L1

&P 075 @R 3



	页 1
	页 2
	页 3
	页 4
	页 5
	页 6
	页 7
	页 8
	页 9
	页 10
	页 11
	页 12
	页 13
	页 14
	页 15
	页 16
	页 17
	页 18
	页 19
	页 20
	页 21
	页 22

